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Note from the author:

About this resource ...

- Book 5a (Code: AH5a)

Book 5a has been written to support the Numeracy Professional Development Project currently being
implemented within many New Zealand schools.

Background Information:

The Numeracy Professional Development

section.

The knowledge section introduces and revises the _key number knowledge

facts required.

The strategy section describes the mental processes students employ to
estimate answers and solve problems involving the four-operations of addition,

subtraction, multiplication and division.

The strategy stages are listed in this table.

The aim of this project is to equip students with various strategies that allow

them to be successful at Mathematics.

In order for this to occur, it is essential for.students to be confident with

number knowledge.

Project
implemented in many schools involves a knowledge section,and a strategy

Resource Book 5b is to be used in conjunction with a second resource, Book/5a.

Help Me at Home Curriculum Strand Worksheets
- Book 5b (Code: AH5b)

is one of a series of TWO sets of 8 resources and has been written to cover the achievement objectives as
outlined in the Mathematics in the New Zealand Curriculum (2007 revised edition) document for the
teaching areas or strands of ... Number & Algebra, Measurement & Geometry and Statistics.

Help Me at Home Number Knowledge Worksheets
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Strategy Stages

being

Emergent

One-to-one Counting

Counting from One.on Materials

Counting from One by Imaging

Advanced Counting (Counting On)

Early Additive Part-Whole

Advanced Additive Part-Whole

Advanced Multiplicative Part-Whole

0 N[O || /BA|W|N |+ |O

Advanced Proportional Part-Whole

Without the 'knowledge', that is, knowing the basic numeracy faets, it is difficult for a student to progress through the strategy stages.
Students move through the strategy stages at different rates. and may be working at different stages given a certain problem. This is
often a result of gaps in key knowledge, hence it CANNOT be stressed enough the importance of learning the numeracy facts. How
children learn the numeraey. facts ismnot as important as knowing them. These resources are designed to systematically introduce

and revise the key numeracy facts.

Strat
Resource pUyaested reregy Curriculum
Book Codé Year Group Stages Level
How to use these resources: TS M e QU A=
There are 2 sets of 8 resources in this series. la/1b] AH1ag: Ay 1-2-3 Tto3 !
The table opposite shows the suggested Year 2a / 2b] AHE SR 2-3-4 4 1/2
Group each book can be used at/ but this.is only [3a /3B AH3a & AH3b 3-4-5 4&5 2
a suggestion. 4a/4b|AH4a& AH4b | 4-5-6 586 2/3
Example: 1-2-3 meansitis likely to be_ 5a /58 AH5a & AH5b 5-6-7 68&7 3
used at Year 2,.the bold underlined
number. 6a/ 6b| AHBa & AHEb 6-7-8 6&7 3/4
7a/7b| AH7a & AH7b 7-8-9 6to8 4
8a/.8b[ AH8a & AH8b | 8-9-10 6to8 5

Why so many resources?

A note for Teachers

There are 2 sets of 8 resources in this series to allow you to have a different book available each year for classes which
are made up of mixed year groups. This will stop the problem of a student saying "We used this book last year!".
Which book you use for your class is up to your professional judgement, taking into account which resource classes

above or below your class might use.



How to use these TWO resources - Book 5a & Book 5b

Book AH5a

Note to Teachers:

40x Number Knowledge . The aim of “these TWO
resources (AH5a & AH5Db) are to
WOFkSheetS provide . the classroom teacher

with® a 'systematic and
comprehensive series of

. This resource systematically introduces and revises worksheets, which_ form the
the number knowledge, presented in various formats. basis “of your mathematics
homework.

. Designed to reinforce the Numeracy Professional
Development Project, it is intended that one worksheet

per week is completed in order from workshéet 1 to gy Motocopy @ORKIy and
e sequentially in order, a/Number

Knowledge worksheet from
Book b5a. On. the Number
Knowledge{ worksheet, pupils

Worksheets from Book 5a:

. One worksheet per week is to be done in conjunction

with one worksheet selected from the Curriculum can record 'their Name, Term,
Strand Worksheet resource (Book 5b). Week and, the Curriculum
Strand.-Worksheet that is also

. Book 5a covers the Strategy Stages 6 & 7. to be done that week.

Worksheets from Book 5b:

o Select and photocopy the
= appropriate Curriculum Strand

Select ONE worksheet from each book to make up your homework worksheet Wor kjc‘ heet required, as
= = determined by what you are
currently teaching in class or a

topic you are revising. In the
table on the next page, record
the curriculum worksheet being
used each week.

Extension Activity for Parents:

Book AHS5b
4OX CurriCUIum Strand . Each Curriculum Strand
Worksheet has an AT HOME

WorkSheetS activity as an extension

activity for parents or care-

«  The40 worksheets if'this resource cover.the givers.

Achievement Objectives@s outlined in Mathematics e  Success in mathematics is
in the New Zealan@ Curriculum for Number & greatly enhanced by having a

_ good understanding of Number
Algebra, Measurement.& Geometry and Statistics. Knowledge. That is, from being

able to add, subtract, multiply

. These worksheets ean be completed in.any order. and divide with confidence, ...
: . with success .... comes

. One worksheet is selected per week to.be done in enjoyment.
conjunction with-one worksheet:from the Number . Either staple the two worksheets
Knowledge Warksheet resource (Book 5a). together or create a double sided

h k sheet.
«  The worksheet selected per week relates to the topic omework shee

being covered at school or as revision.

. Book 5b covers Level 3 of the Curriculum.




Book 5a (AH5a) - Number Knowledge Worksheets

Number Curriculum Strand Number Curriculum Strand
Knowledge TSnrt-?de(tg;lsvt\)leiik _ Worksheet Knowledge TSn';!rnd:tg;lth\)leiik Worksheet
Worksheet e TS | Worksheet gt vt o

1 Term: Week: 21 Term: Week:
2 Term: Week: 22 Term:  Week:
3 Term: Week: 23 Term: _Week:
4 Term: Week: 24 Terma, Week:
5 Term: Week: 25 Term: » Week:
6 Term:  Week: 26 Term: Week:
7 Term: Week: 27 Term: Week!
8 Term: Week: 28 Term: Week:
O Term: Week: 29 Term: " Week:
10 Term: Week: 30 Term: Week:
11 Term: Week: 31 Term: Week:
12 Term:" Week: 32 Term:  Week:
13 Term:i s Week: 33 Term:  Week:
14 Term: Week: 34 Term: Week:
15 Term: Week: 35 Term: Week:
16 Term: MWeek: 36 Term: Week:
17 Term: . Week: 37 Term: Week:
18 Term: Week: 38 Term: Week:
19 Term: Week: 39 Term:  Week:
20 Term: Week: 40 Term: Week:




Book 5b (AH5b) - Curriculum Strand Worksheets

(Tick next to worksheet as each ONE worksheet is issued per week)

o »~ W N

o

10

11

12

13

14

15

16

17

18

19

20

Reading and writing whole
numbers

Place value revision

Reading and writing decimal
numbers

Decimal place value

Addition & subtraction
strategies

More addition & subtraction
strategies

Ordering decimals

Rounding numbers and
estimating answers

Multiples of 7's / multiplication
facts

Multiples of 8's / multiplication
facts

Introducing division by
'‘grouping'=7 & 8

Multiplication strategies
Division strategies
Fractions
More fractions
Solving eguations
Number/patterns or sequences

Measuring units - length
Measuring units - weight
(mass)

Measuring units - volume
(capacity)

Tick

21

22

23

24

25

26

27

28

29

30

31

32

33

34

35

36

37

38

39

40

Reading scales / measuring &
drawing lines

Perimeter
Area
Volume
Temperature
Time
2-Dimensional shapes
3-Dimensional shapes

Maps / Compass directions

Readingsmap:(grid) references

Rotation & reflection
Translation & enlargements
Conducting an investigation

Sorting data using tally charts
Column graphs, pictograms
& dot plots

Stem and leaf graphs & time
series graphs

Finding the mean (average) and
the range

Finding the median and the
mode

Finding outcomes

Simple probability experiments

Tick







Curriculum Strand Worksheets Section
(Level3)
Number & Algebra,
Measurement & Geometry,
and Statistics

Worksheets

Select:ONE Curriculum Strand Worksheet per week from this book (AH5b) to be
completed in conjunction with ONE Number Knowledge Worksheet,

selected from.:Book 5a (AH5a).

Record your selection inthe table at the front of this resource.
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ACross
1

g b~ W N

.

10
12
14
15

16

Down

Use the clues across and'down o complete
this number cross involving whole numbers.

twenty-four

one hundred and forty-seven

five thousand, six hundred and two
nine hundred and four

twothousand, five hundred and
seventy

sixty-one

seventy-three thousand, five hundred
and fwenty

three hundred.and forty-eight
ninety-two

six hundred and fifty-nine

four thousand, nine hundredsand sixty
-three

sixty-ninethousand, two hundred and
fourteen

two hundred and thirty-seven
sixteen thousand, nine hundred and
eighty-seven

five thousand, four hundred and
twenty-one

Copyright © 5057 AWS Publications Ltd

6  seventy-three
7 six thousand and fifty-four
9  eighty-nine thousand andsixteen

thirty-one thousand, nine hundred and

fifty-four

11 eighty-nine thousand, three hundred and
forty

13+ one thousand, six hundred and ‘thirty-
eight

Write these numerals

as number words:
65
83
316

2

3

)

®) 1097

(6) 8302

7y, (15360

(®)

76002

)H

The aim of this activity sheet is to read number words for
multi-digit numerals and write numerals as number words.

< ra
Suggested HOME activity:
Say aloud or write any multi-digit numeral, as on this worksheet, in
number words and ask your child to write it as a numeral. Concentrate
on pairs where the digits have been reversed. Example: 423,324 .....
2147,7412 ... etc.
Write any multi-digit number as numerals and ask your child to say,
then write the numeral as number words.

Sign when
completed:




n Place value revision

Name:

Sam placed some rings
on an abacus to show
the number 13624.

How many rings
are on each peg?

==

10000's 1000's 100's  10's

Answer:

110000's, 3 1000's, 6 100's, 2 10's & 4 1's.

1's

The place a digit has in a number
will affect its value.
Example: In 950, the 5 has

a place value of 10 and means 50,

What istthe place value of the BOLD digit in each
number and what does it/méan?

Count the number of rings on each peg.
What number is shown on each abacus?

10000's

1000's

100's

- == i Ls

10's
Number

Place value ~ means

(5) 24934 30
) 57620 1000's

@ 23493

®) 89512

9) 41735

(10) 62340

(1) 39782

(12) 89137

(13) 34650

(14) 78912

(15) 52374

10000 s 1000's 100's 10's
10000's
1000's
€ .
100's
10's
1s

Number
10000 s 1000's 100's

To showyou undérstand place value,

circle the following digits ...

10000's

1000's

3)
100's

10's

1s

Number

10000's 1000's 100's  10s 1's

(4)  Colour in rings ‘on this.abacus to
show the number 15043.

10000's 1000's  100's 10's 1's

Copyright © 5057 AWS Publications Ltd

(16) .. circle the 1000's digitin 29504
(17 . circle the 100's digitin 13876
@8) " circle the 10's digitin 300489
@9 . circle the 10000's digitin 19317
(20) . circle the 1000's digitin 98135

The aim of this activity sheet is to understand place value
. for 5-digit numbers, i.e. tens of thousands, thousands,
s e hundreds, tens and units.

\ Av

| Suggested HOME activity:

| Find five different coloured blocks or objects to represent 10000's,
1000's, 100's, 10's and 1's. Ask your child to model any 5-digit

‘ number using the blocks.
Example: For 172 ... 1 100's block, 7 10's blocks and 2 1's blocks.

Ask your child how many of each place value in any 5-digit number.

| Sign when
| completed:




B Reading and writing decimal numbers  Name:

®

Use the clues across'and down to complete
this number cross_ involving decimals.

Across
1  three hundred and eighteen point. four
six
2 fifty-nine point two foursix
6 onehundred and eight point four eight
7 [ sixspoint three two four
8 fifteen point six nine

10  three hundred @nd forty-nine point
three point seventwo
14 five four zero nine
15 six hundred and. seventeen point:fwo
zero five
Down

1  three point five seven one

3 two point one eight three seven

4  six hundred and forty-eight point four
one

5 six hundred and eighteen point seven
six

Copyright © 5057 AWS Publications Ltd

A
AWS])
Down
9 five point three seven nine
11 nine hundred and four point two seven
12 two point six three four
13 © one point three six eight

Write these decimals
as humber words.

@ 6.4
(©)) 5.02
) 89.6
(5) 43.87
6)  350.13
™ 18.019
8y 58.513

&
The aim of this activity sheet is to read and write decimals
as numerals and number words.

« &2

Suggested HOME activity:

Say aloud or write any multi-digit decimal, as on this worksheet, in

on pairs where the digits have been reversed. Example: 1.89, 98.1
214.7,741.2 ... etc.

Write any multi-digit decimal as numerals and ask your child to say,
then write the decimal as number words.

Sign when
completed:

number words and ask your child to write it as a numeral. Concentrate

N




n Decimal place value

Name:

As we have seen, the 'digits’ in a whole

number all have a place value.

Numbers involving decimals also have %
particular place values. s
Example: What is the value of the digit ‘9" in
each of these numbers? 20.95 and 7.196

The place a digit has in a number
will affect its value.
Example: In 950, the 5 has

a place value of 10 and means 50.

What istthe place value of the BOLD digit in each
number and what does it/méan?

Answer: The digit ‘9" in 20.95 stands for 9 tenths (0.9). Place value means
The digit '9' in 7.196 stands for 9 hundredths (0.09).
? ) 42934 0.03
Some of the place values for numbers involving ,
decimals are shown in this chart below. 6) 976.20 10's
1 1 1
100 10 1
. + 10 | 1200 | 1000 ||| 32.493
hundreds tens ones (units) tenths hundredths |thousandths
C) 98.512
Count the number of rings on each peg.
What decimal number is shown on each abacus? © 52.735
105 a0 _ . 42:386
I's
@ s (1) 39.782
¥ 12) 0.5891
1/1000'5
-
10's 1's @ 1/10'5 llloolS 1/1 'S ™ (13) 3'4650
19 46912
10's 89
I's (15)
2 9.2433
1/m's
Ys0's To showyou undérstand place value,
: : Als circle the following digits ...
1 T T | Nusiber . C e
LS S 1S oS oS (16) .. circle the 1's digitin 19 .752
10's 17 . circle the /100's digitin 24 .143
l's
) s (@8) " circle the '/1o's digitin 987 .68
1oo's @9) .. circle the '/1000's digitin 0.8261
-
umber 20 . 1 ' . . .
105 1's @ 'hos Chs wws|| (20) _ circle the !/100's digitin 123 .856
8
) f’”"‘"ﬂ\ The aim of this activity sheet is to understand place value
4) Colour in pings on thisrabacus to ‘ %’f lp for decimals. i.e. tens, units, tenths, hundredths and

show the number 15.603

10's 1's @ Y's

l/ 100'S l/ 'S

Copyright © 5057 AWS Publications Ltd

‘ @;;&, thousandths.

| Suggested HOME activity:
| Find five different coloured blocks or objects to represent the various
| place values. Ask your child to model each decimal using the blocks.

Example: For 1.93 ... 1's 100's block, 9 /1¢'s blocks and 3 */100's
blocks.

Ask your child how many of each place value is in the decimal.

| Sign when
| completed:




H Addition & subtraction strategies

Name:

AWS

There is more than one way to work out an
answer. Here are some examples.

Groupings of 10, 100 or 1000

Adding 62 + 9 + 40 is the same as 100 + 11 = 111

@ 74+7+30= * =
@ 80 + 35+ 25 = * =
@  520+29+500 = " -

) 1310 + 1190 + 26 =

Using known doubles
Adding 75 + 76 is the same as 70 + 70 + 11 =151

or 80+80-9=151

©) 62 +63=60+60+

©) 71+74= +70 +

™ 102 + 107 = 100 +

® 224 + 219 =

Round to make '10' or a "multiple of 10’
Add 68 +9 (add 2 to 68, subtract 2 from 9)

Answer: 68 #9=70+7=77
©) 77 + 26 = 80 + =
(10) 29 + 156 = + =
ay 236 + 37 = + =
12) 48 +/b528 = + =

Adding or subtracting 100‘s, 10's and 1's
Example:  Add 123 + 245
(100°'s) 100 + 200  (10's) 20 + 40
Answer: 300+ 60 +8 = 368

(1I's)3+5

(13) 362+ 137 is the same as ...
300+ __ L +60%.  +2+ L =0
(14) 145+ 524 is the same as ...
(15) 267 - 124 is the same as ...
200-__ +_ -20+____ -4 = __
(16) B39 - 216 is the same as ...

Copyright © 5057 AWS Publications Ltd

Splitting numbers to make ‘10’
Work out 123 -8 =@ (123 =120+ 3)
120 - 8 = 112, Answer: 112 + 3 = 115

@7y 175 -6 is the same as .«
170 - 6 + =
(18) “326 -9 is the same as..
_ &9+ =
(19) w432 - 8 is the same as ...
430 - + =
20) 531-7is thesame as ...

Don't subtract ... add
95 - 66 = @ is the same as 66 + @ = 95
Use ‘tidy" numbers to work this out.

<« <» >

61 |62 | 63 | 64 | 65 66) 67 |68 | 69 [ .70
234 WSO
& +82 83184 878818990
91192193 |94 (95 96| 97 | 98 | 99 (100

~—

Answer: 4 + 20 +5=29 (66 +4+20+5:=95)

@1 74-39-@isthesameas39+@ =74
®-1+30+ =
(22) 95 268 = @ is the same as 68 + ® = 95
®-2+ + =
(23, (92 -47 - @ is the same as 47 + @ = 92
@ - + + =
24) | 117-99 = @ is the same as 99 + @ = 117
o - + + =
(25) 138 - 67 = @ is the same as 67 + @ = 138
[ = + + =
8

A1 The aim of this activity sheet is to look at different
*” 4 strategies that could be used to work out addition or
<% £ Subtraction problems.

Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

Sign when
completed:




n More strategies

Name:

AWS

Don't subtract ... add
94 - @ = 67 is the same as 67 + @ = 94
Use 'tidy' numbers to work this out.

(67)
77
84 | 85|86 |87
(94) 95|96 | 97

<<

Add a 'large’ tidy number, then count back
Answer: 30 - 3 = 27 (67+30=97 - 3= 94)

61|62
71|72
81|82
91|92

63
73
83
93

64
74

65
75

66
76

68
78
88
98

69 [ /0
79 (80,

89 @
99 100

Both sides are equal
Find the missing number ... 45+ 32 = @ + 30

(add 2 to 45 because 30.is 2 less than 32)
Answer: 45 + 32 =47 + 30

Find the missing number ... ® - 37 = 78 - 40
(subtract.3 from 78 because 37 is 3 less than 40)

Answer: 75 -37 =78 - 40

@ 134 -79 = @ is the same as 79 + @ = 134
®-60- =

@ 275 - 86 = @ is the same as 86 + @ = 275
o- - =

3 521 - 57 = @ is the same as 57 + @ =521
o- - =

) 347 - 89 = @ is the same as 89+ @ = 347
o- - =

Reversing order
® + 24 = 41 can be written as 24 + @ = 41,

then work out using any strategy

) @ +26=82 26 + =
(6) ® +49 =93 + =
™ ® +58=114 + =
® @ + 67 =245 + 5
©) @ + 118 = 341 + =

Equal additions to make 'tidy' numbers
Subtract 157 - 98" (add 2 to both numbers)

Answer: 157.-98 =159 - 100 = 59

(10) 63 - 284=. 65 - =
(11 182 - 65 = - =
1z 276 - 37 = - =
(13 354 - 96 = - =
(14 421 - 89 = - =

Find the missing numbers.

(15) 19+ =20+78
(16) 89+25=80+__ .
(17) __ -24=67-30
(18) 47+86=__ (L 1+83
(19) 95-28=100=1

Work out the problems using
any strategy you like.

(20) 89 - 43 = -
(21) 112 + 79 = =
(22) 91-76 = =
(23) 1341586 - -
(24) 584116 = =
250 45+ 64+19 = -
(26) 176 - 124 = =
(27) 63 +149 = =
@)  27+43+62= -

&
A | The aim of this activity sheet is to look at different
P ﬁ‘/b\ strategies that could be used to work out addition or
«% ¢» Subtraction problems.

Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

Sign when
completed:

Copyright © 5057 AWS Publications Ltd




A
Ordering decimals Name: AWS ’

(1)  Write these decimals in order 1.56 Honey jars are filled by a machine. —
from smallest to largest. 3.45 Below are the weights of five jars.
12.
© ||Mrey A | B | Cn.D | E
0.95
Weight 0.996kg | 1.012kg | 0.987kg | 1.036kg | 1.023k
8.04 elg g g g g g
18 3 (10) “What is the weight of thelightest honey
Jar?

Mark competed in the javelin throw.
His throwing distances are in the table. @1) ~What is the weight of the heaviest honey

Jar?
Throw | ] 2 3 4 5

Distance |23.65m[23.37m|23.48m123.71m(28.52m @€2) What is the weigh‘r Of the 3rd “9"\1’631’
honey jaf?

2 What was the distance of his

longest throw? (13) What weight of honey do youthink the
machineiis trying to pour'into the jars?

@)  What was the distance of his
shortest throw?

@)  What was the length of the 2nd longest (14) _Write the weight of these honey jars in
throw? order of lightest fo heaviest.

(5)  Write the throwing distances.inorder from
longest throw to shortest throw.

’ ’ '

Using the five digits inthis box and a decimal
, , , . point, create the largest number closest to 30.

Lane Time ‘ 9 ‘ 4 ‘ 5 ‘ 7 ‘ 2 ‘ ‘ ° ‘ Answer: 29.754
1 | 334 N
> 377 (15) Use these digits ....
This table shows i 33’61’; ‘9‘4‘1‘5‘7‘2‘ "‘
the results of a 200m 5 3 4' ) to make the three closest numbers below
race, run_in 8 lanes. 6 30'1 and above 15, in order from smallest to
The/time is in'seconds and 7 358 largest.
there were eight runners. 8 329
®)  Inwhich lane was the
fGSTCST runner? 15.0000
@  Inwhich lane was the
7th fastest runner? @

7™ The aim of this activity sheet is to learn to order decimals
. ‘“.\ from smallest to largest or largest to smallest and revise

8  What were the times.for 1st, 2nd and.3rd?

‘“ P words such as first, last, heaviest and lightest etc.

Suggested HOME activity:

! Create up to six decimals and ask your child to order the totals from

9  Write the 200m race times in order from smallest to largest total.

fas‘res‘r time to slowest time Example: weight of a tomato, 3.6g, 4.5g, 6.19g, 5.89 3.9g, 4.79g etc.
Make up similar word problems as above that involve different weight,
distance or volume values and ask your child to order each group.

Sign when ‘
completed: ‘
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n Rounding and estimating answers

Name:

AWS

Rounding a money total to the nearest $10 can
make adding up money less difficult.

Example: $87 is almost $90, $82 is just over $80
Round UP if the end number is 5, 6,7, 8 or 9.
Round DOWN if the number is O, 1, 2, 3 or 4.

Round each money amount to the nearest $10.

€ $58 ©) $644

2 $82 @ $786 |
®3) $97 G $267 Ny &
@ $74 ©) $573 -
(5) $146 (10) $916 W

When rounding a number fo the nearest 100,
look at the 10's place value number.

Example: 767 rounds up o 800 (5,6,7,8,9 )
but 437 rounds down to 400 (0, 1,2, 3,4 ¥)

Round these money amounts to the nearest $10,
$100 or 10 cents, then work out an answer.

Add $29 + $32 ... Rounded $30 + $30 = $60
Add $117 + $769 ... Rounded $100 +$800 = $900
Add $1.28 + $4.53 ... Rounded $1.30.+ $4.50 = $5.80

The‘answer you get is called
SN

an estimate because:it is not
the exact answer.

Round each money amount to the nearest $10,

then work out an estimated answer.

@1 $81+$79= + =
(32) $157 + $52 = + =
33) .$98-$59 = - =
(34 0. $234 2474 = s =

Round each money amount to the nearest $100,
then work out an estimated.answer.

(35) . $275+ $739+ + =
Round these numbers to the nearest 100.
(36) $645+ $389 = + =
(11) 340 (46) 729
1 e7n  $1062 - $529 = - =
(12) 760 (17) 806
(38 $2431-$959 - - =
(13) 190 (a8) 477
—— |Round each money amount to the nearest 10
a4 372 19) 303 cents (7dp.), then work out an estimated answer.
(15) 164 (20) 826 39). $7.68 + $8.27 = + =
When rounding a decimal to /1 decimal place Qg $984 + $3.86 = * -
(1d.p.), look at the 1/100'5 pIGCC value dlgl'f (41) $1683 _ $949 - _ -
Example: 456 roundsup to 4.6 (5,6,7,8,9 )
but 2.43 rounds dofRmEAR. 2, 3, 4 %) @2 $19.95-$843 = - -
&

Round these decimals fo 1:decimal place.

(21) 3.49 (26) 17.29

(22) 7.62 27) 28.84 £
(23) 1.94 (28) 12477 -
(24) 3.77 (299  133.65 -
(25) 1.64 (30) 813.21 -

@ \ The aim of this activity sheet is to round numbers /
*”_#® decimals to the nearest 10, 100 or 1 d.p. Rounded
&% #» numbers can be used to work out estimated answers.

Suggested HOME activity:

Call out money amounts of less than $100 and ask your child to round
them to the nearest $10.00. Repeat the exercise for money amounts
greater than $100 and ask your child to round to the nearest $100.00.

Example: Round $27 to the nearest 10. Round $286 to the nearest
100.

Ask your child to round 2,3, 4 or more numbers to the nearest 10,
then have them add them up to come up with an estimated answer.

Sign when
completed:

Copyright © 5057 AWS Publications Ltd




n Multiples of 7's / multiplication facts Name:

This number line shows skip counting in 7's.

& ]

~ 1

| | | | | | | | | | N
1 1 1 1 | 1 1 1 1 | ”
B[ 7 [[14][ 21 ][ 28 [MEEH[ 42 ][ 49 ][ 56 | 63 |

"What's 7+7+7+7+7 ..
same as 7 x 5?" asked Jack.

(1)  Write the missing multiples of 7 as you skip
count in 7's up to 70.

7, . , 28, ,

.49, , 63,

Work out these skip counting questions and
write them as multiplication facts.

@) 7+7+7+7= and is the
same as 7 x &
(3 T+7+7+7+7+7+7= and
is the same as 7 X =
@ T7+7+7+7+7= and
is the same as 7.x =
(5) 7+7-= and is the
same as. 7 x =
(6) T+L+ T T +7+7+7+7=
and is the same as 7:x =
@) 7+7+7= and is the
same as 7-x =
® T+T7+7+7 4T/ +7+7+7=
and is the.same as 7 x =
9 T7+7+7+7+7+7= and is

the same as 7 x =

(10) T+7+7+T7+7+7+7+7+7+7=

and is the same as 7 x =

Copyright © 5057 AWS Publications Ltd

P —
AWS]

Write in the missing numbers for the =

7x multiplication facts. &
ay 1 x7 = | 87 x5 =
12 70x 4 = | amy2ix 7 =
™ 6 x 7= | @7 x 7=
dp7'x 9 = @9 3 x F:
(1% 10 x 7 = 200 7 x 8 = =

“What number multiplied by 7 gives me an
answer of 282" asked Mark.

Written as 7 x = 28 ... the answer is 4.

Write in, the missing numbers for
these 7x multiplication facts.

@y, x 7 =14 @07 x = 28
@ (7 x =585 @  x 7 =7
@)y x 7 =2t e 7 x =35
v 7 x M9 @  x 7 =70
@ x(72= 42 | @) 7 x__ = 63
31)  If.6he bogdk costs $8.00, how

much would 7 books cost?

X =
32)» If one ice-cream costs $4.00, how
much would 7 ice-creams cost?
X =
33)  If yousent $56.00 buy 7 C.D.'s, how much
did each C.D. cost?
. . -

m\\\ The aim of this activity sheet is to use skip counting in 7's

f( '@ to introduce the 7x multiplication facts. Multiplication is
Q;,, 'short-hand' for repeated addition of the same number.

Suggested HOME activity:

Revise skip counting in 7's until your child can successfully and quickly
countin 7's up to at least 70. These are called the multiples of 7.

Ask your child each multiplication fact until they know them all.

Example: What is 7 multiplied by 57 ..... 7,14 21, 28, 35.
At this stage, your child may still skip count to get the answer.

Sign when
completed:




g N0l Multiples of 8's / multiplication facts

This number line shows skip counting in 8's.

& ]

~ 1

| | | | | | | | | | N
1 1 1 1 | 1 1 1 1 | ”
B[ s [[16][ 24 ][ 32 [IEGH[ 48 ][ 56 ][ 64 |[ 72 | IEEH

"What's 8+8+8+8+8 is that the

same as 8 x 5?" asked David.

(1)  Write the missing multiples of 8 as you skip

count in 8's up to 80.

8, ,32, ’

, 56, .72,

Work out these skip counting questions and
write them as multiplication facts.

@) 8+8+8+8= and is the
same as 8 x ~
(3 8+8+8+8+8+8+8= and
is the same as 8 X =
@ 8+8+8+8+8= and
is the same as 8. x =
(5) 8+8= and is the
same as 8 x =
(6) 8+8+8+8+8+8+8+8+=
and is the same as 8:x =
) 8+8+8= anhd is the
same as 8.x =
®) 8+8+8+8+8+8+8+8+8=
and is the.same as 8 x =
9 8+8+8+8+8+8= and is
the same as 8 x =
(10) 8+8+8+8+8+8+8+8+8+8=

and is the same as 8 x =
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ez AWS
Write in the missing numbers for the =
8x multiplication facts. &
ay 1 x 8 = | )8 x 5 =
12 8 x 4 = | an,2'x 8 =
3 6 x 8= | 088 x 7 =
98 'x 9 = @9 3 x 8,=
15 10 x 8 = (200 8 x 8 .=

“What number multiplied by 8 gives me an
answer of 402" asked Rangi.

Written as 8 x = 40 ... the answer is 5.

Write in the missing numbers for
these 8x multiplication facts.

@y, x 8 =16 | @8 x = 32
@8 x =64 @  x 8 = 8
@3 x 8 =24 /(28 8 x =40
29 8 x =1B6 | @9  x 8 = 80
2%  x/8a= 48 | GO 8 x =72
31)  If.ohe book costs $9.00, how =y

much would 8 books cost?

X =
32)0  Iflone ice-cream costs $5.00, how " Jd .
much would 8 ice-creams cost? %
X =
33)  If you spent $64.00 buy 8 CD.'s,

how much did each C.D. cost?

0

'm\\ The aim of this activity sheet is to use skip counting in 8's

% '» tointroduce the 8x multiplication facts. Multiplication is
Q;,, 'short-hand' for repeated addition of the same number.

Suggested HOME activity:

Revise skip counting in 8's until your child can successfully and quickly
count in 8's up to at least 80. These are called the multiples of 8.

Ask your child each multiplication fact until they know them all.

Example: What is 8 multiplied by 57 ..... 8,16, 24, 32, 40.
At this stage, your child may still skip count to get the answer.

Sign when
completed:




Division by 'grouping' -7 & 8

This 28 piece chocolate block is
to be shared amongst Jane's
friends.

"We will all get 7 pieces each,"
said Jane.

How many friends is Jane
sharing her chocolate with?

Answer: 4 friends, writtenas 28 +7 =4

How many groups of 7 can you get @ o
from each group of shapes? Q)
Write each question as a division fact. Q 9)
o 28 =7 =
Total number Number of
of shapes groups of 7
L A A &2 2 A A . J
LA 4 A A K A -/
PO R
(©)) 7= BOO®D R
OO DO
L . A 2 & A A A J
i _ OB DD
® =7 =
BHEGEPE  soo0ses
CELIeeES
@) 27 = PEEeLES
SEPTREE
SSDEEIE
IVY VYV VVYVY VYN
IV YWYV YV
Y Y VUV YY
©) 27 = VYV Y VYV VY
'YYVYVYVYVVYVYVYN
'V VYVYVYVYYY
DO - iHHHH AL
(XY ¥ Y Y X J
. - X- X Y X Y X J .7 -
N PP DD /=
(- X X X X X -X. ]
DO OW® = I EHan @R an
6D D GO o 6
& D GH T G D 60
®) 27 = €D B B D @ D
g e R R e
oD o5 G e ek E @
5 A B Y A AT AT A D ED O ED o G @D
A Y T [ e A T DGR () eR Y @ @B
HEFEEEESES
©)] o ] G A e T S Y 7=
AEEESEEEST
szaazsesey
(10) =7 =

VUWUREV
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Name:

>
=

Use this 8 x 10 grid to
help work out how many

-

S

o
2
)

groups of 8 there would  [i]2]s[4[s5[6[7 ]800
be in each shape. .
Write éach question as a :
division fact. :
8
Total number of squares'in Number of groups
each shape ‘
(11) 24 squdres 24 -8z
12) 48 squares 8=
(13 72 squares +8=
a4 32 squares +8=
15) 56 squares 8=
(16) 16 squares +8=
an 80 squares + 8=
(8) 64 squanes ~8=
(19) 8 squares +8=
(20) 40 squares +8=

Word probleins,

1)  If 7 books cost $42.00, how =1y
much does 1 book cost? /

22) . If 8ice-creams cost $24.00, how
much does 1 ice-cream cost?

(23) If 8 movie tickets cost $72.00, how

much does 1 movie ticket cost?

I

,;,’Mw\\\ The aim of this activity sheet is to introduce division by
~¥ '@ working out how many known sized 'groups’ can go into a
% &2 given number of objects or squares.
Suggested HOME activity:
Division and multiplication are opposite operations. If your child knows
the multiplication facts, reverse them to learn division facts.
Example: "If 7 multiplied by 5 is 35, then ... 35 divided by 7 is 5."

Using objects if required, ask your child to 'group' the objects to model
all 7x and 8x division facts, as done on this worksheet.

Sign when
completed:




i B Multiplication strategies

Name: Aws

When working with large numbers, there is
more than one way to work out an answer.
Here are some strategies.

Splitting numbers using place value
Working out 49 x 7 is the same as ...
(40x7)+(9x7)=280+63=343

1) 75x5 =(70x )+ (5 x )
= + =

(@) 67 x6 =( X )+ ( X
= + =

3) 54 x7 =( X )+ ( X
= + =

4 98 x 3 = (100 x )-(2x )

®  86x4 =(___x__ -(_ x

Rounding to use 'fidy' numbers
Working out 298 x 5'is the same as ...

(300 x 5) - (2 x 5) 211500 - 10 = 1490 kit

(6) 397 x 4:=.(400 x )- (3% )

) 292 x 6 Y- ( X

1"
~—~
X

® 594 x7 Y- (%

"
—~
X

C) 309 x 8 = (300 x )+ (9 x )

x0) 706 x6 =( X )+ ( X

Copyright © 5057 AWS Publications Ltd

Doubling and halving factors
Working out 16 x 5 is the same as ... <
8x10=80 ($x16=8,2x5:=10)

(11) 4 x 24 =8 x =

(12) 36 x5 = X =
(13) 5x54:= X =
(14) 40x7 = X =
(15) 8x25¢= X 3

Using written working forms
To work out 97 x 6, rewrite@s ...

797

Firstly, 7x6=42

~_ x6
(Neote: small 4 represents 40) 2

97
then, 90 x 6 = 540 plus.40.= 580 X6
582
& 94 (19) 87
X3 x7
an 86 (20) 521
x 4 x 8
L 69 @b 374
x 6 x5

&
m}\\ The aim of this activity sheet is to look at different
: ﬁ‘/b\ strategies that could be used to work out multiplication
«% ¢ Problems.

Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
work out their answers. Remember that working out the answer with
confidence is more important than the strategy used.

Sign when
completed:




Division strategies

Name:

When working with large numbers, there is
more than one way to work out an answer.
Here are some strategies.

Using known multiples of 10
Working out 95 + 5 is the same as ...
(50+5)+(45+5)=10+9=19

@) 644 =(40+___ )+ (24+__ )

= + =

(@) 125+5 = (100 = )+ ( +
= + =

3) 1026 =( = )+ ( =
= + =

4) 112 +7 =( = )+ ( =
= + =

(5) 120+ 8 =( : )t ( -
= + =

©®  592+2:=(600+__ )-(8:L )
%0 588 +6 =( X ) - ( -
® 1584 :8=( < ) - ( *
@  832:4 =(800= )+ ( o
= + =
10y 1421+7 =( + )+ ( *
= + =
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Halving factors

(11 144-12-= 6= 3=
(12) 96+16=_  =+-8= = =
(13) 1,840 + 40 = : = = =

(14)) 456 + 24 =

(15) bBl2+32 =

Using written working forms, some with
remainders. To work out 97 +4, rewrite as ...

Firstly, 924.=2 2
with a remainder of 1 4W
then 17+ 4 = 4 24 r1
with a remainder of 1~ 4)9'7
@ae) 2y

e a4l Sata
a7) (22)

4W 4W
(a8) (23)

6)9 0 6)7 38
(19) (24)

7)9 5 7)87 9
(20) (25)

8)9 9 8j750

;" . The aim of this activity sheet is to look at different strategies
. that could be used to work out division problems.

d T»
Suggested HOME activity:
Make up similar questions that cover the basic numeracy facts at the
back of this resource. These are key number knowledge facts.

The strategies used on this worksheet are only a suggestion. Your
child may not need to use some or all of these strategies and may
have strategies of their own. Encourage them to talk about how they
workout their answers. Remember that working out the answer with
confidence is more important than the strategy used.

9
b

Sign when
completed:




Fractions

/7
Name: ’

AWS

An object cut into TWO equal sized
pieces is said o be cut in half.

One half written as a fraction is %.
For any fraction, the bottom number, tells you

how many times the ‘whole ' object has been cut
or divided up.

Examp/e: 1/2 ,1/3 ,1/4 ,1/5 ,1/6 ,1/10 etc.

"What's one fifth of $45?" asked Andy.
(Written as & of 45 or § x 45)

. "Try what number multiplied by 5 is 45
%, or dividing 45 by 5," said\Tom.
(Writtenas 5 x @ =450r45:-5=-@))
Answer: $x45=9,as5x9-450r45:-5=9)

e

Woark out each fraction of these numbers.

Write the missing fractions, words and numbers
in this table. Choose from this box.

one sixth, one tenth, one half, one quarter 117371
Fraction Written as ... Means ...
@ < @ ___outof
one third |® @ ___ oUutof
) (6) 1 outof 4
one fifth | @ . outof
9) (10) 1 out of 6
1) —110— a2y out of .
(13) Each strip below has'been divided up.
Beside each strip, write what :@i
fraction has been shaded in. T
AR N ———
e s ey o
——— —— . |
[ v e i s s s S
el [ 11 = &
el & [ 1] =
(14) Show you understand fractions by shading ...
g = | | | | |
s = | | | | | !
%l = | | | | | | |
= 1T 1T [ T T 10 ]
g [T T T T T T T ]
ho= C T T T T T T T [ 1]

... of each strip.
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@5) Find § of 27 = (as3x___=27)
@6)  Find § of 45 = (as B x_ _=45)
(17)  Find ¥ of 56 = (as.7° X L =56)
(18) Find /& of 54 = (asd4:6=__)
19) Find §of 72 = (as72:8=__)
20) _Findfof 160=__ "0 (as160+10=__)

Findinga ‘whole'.

(21) | Ben was given 8 chacolate
squares which was's of a
block of chocolate. How

many squares in this block of chocolate?

X

If Helen spent $10 which was § of her
pocket money, how much pocket money did
she get?

(22)

X

A café has sold 9 bread rolls

which was ¥ of the bread rolls
available for sale that day. How many
bread rolls did the café have for sale?

(23)

X

&
A" The aim of this activity sheet is to understand how to work
~__® out a fraction of a group of shapes or a number. Working
<% £» With fractions will either involve dividing or multiplying.
Suggested HOME activity:
Find a collection of objects from around the house or use money totals
and ask your child to find a fraction of each group / money total, using

the fractions on this worksheet. Extend the exercise to include working
out what a total group would be, given a fraction of it.

Example: If #of a group is 4, how big is the group. Answer: 12

Sign when
completed:




g IoW More fractions

Name:

AWS

For any fraction, the bottom number, tells you
how many times the ‘whole ' object has been cut
or divided up.

Examp/e: 1/2 ,1/3 ,1/4 ,1/5 ,1/6 ,1/10 etc.

If 1 is the top number, the bigger the number on
the bottom, the smaller the fraction.

"What's two thirds of $24?" asked Andy.
Weritten as § of 24 or § x 24

"Firstly, divide 24 by 3 to find 3, then

multiply your answer by'2 to find §," said
Tom. Answer: 24+3=8,then8x2:=16

(1)  Werite the fractions in the box in Yo s
order from smallest to largest. s 'l
1/10 :1/4
) ) . 12 ,s
2 Mark each fraction (A to E) on

A

A=1/5, B=1/9, C=1/7, Dzl/e, E=1/1o

this number line, where X = 1/, .

A
\ 4

0 | 1
X

Just like whole numbers, a number sequence can
be created by skip counting in fractions.

Example: /2 212 32 212 212 0/, ete.
This sequence was created by ~
adding !/, to each new frdction. =

Write in the missing fractions as you
skip count in !/3's'to create this fraction
sequence.

3

’ 5/31 ’ 7/31 ’

'3,%/3,

Write in_the missing fractions asyou
skip colnt in?/5's to créate this fraction
sequence.

)

s,

s,

7 1
/5, ’ /51 ’

Write in the missing fractions as you
skip count in !/7's to create this fraction
sequence.

(G

,2/7, 15/71

8 12
/7, ‘ /7
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Work outreach fraction of these.numbers.

) . Find %/3 of 27 = (27 +3:=2x2=7?)

() Find 3/4 of 24 = (24+-4:=2x327?)
® Find3/;df 565,  (63:73?x5:=?)
®  Find /g of 40 = (40 - 8=?x5=?)
(10)  Fifd3/s5 of 45 =
a1) Find®/s of 54 =

Word problems.

(12) | Andy is % the way through a cross-country
race. If the race’is 3000m long, &3
how far has he run so far? gggﬁ’@

3000= = X =

(13)  Rodt 9 pupils are § the way through a 40
minute .game of soccer. How
long have they been playing?

40 = = X =

(14) /A café has sold £ of the bread rolls

available for sale that day. If there are 50
bread rolls available, how many has the café
sold so far? SN

SS=asy
———

A
A _ L The aim of this activity sheet is to understand how to order
<7 __® fractions, create a sequence and work with fractions when
«% #» the top number is greater than one.

Suggested HOME activity:

Using money totals, ask your child to find a fraction of each money
total, using the fractions on this worksheet where the top number is 1.
Extend the exercise to include fractions where the top number is
greater than 1 but less than the bottom number.

Example: Find #of 24, #0of 28, fof 24, £of 24, #Fof 24, etc.

Sign when
completed:




Solving equations

To solve an equation means to work out the
number that would go where the letter is.

Examples:

19+a=27, b+8=25,
28-c=6, d-9:=12
Remember that the total on either side of the
equals sign, must be the same.

Use any strategy you like to solve
these equations. Be prepared to talk

about what strategy you used. ¥

@ 27 +a =53 a =

@ 35+b =61 b = -
® 52 -¢ =39 c = Wl
) 75-d =46 di = Y
(5) e+73=98 e = -
®) f-37:=65 fo = -
@) g+19=106 g - IR
®) 143 - h = 69 h =  a
©) i+83=130 i = .
(10) Jj-65 =37 J = v
(11) 20 x k =120 k |- -
12) mx 6 =54 m = -
13) 240+n = 60 n = -
(14) 400 x p = 1200 p = R
(15) q-+10 =410 q = N
(16) 64 =r=8 r = Ny
an s x 30 =160 s = ' ol
(18) t+5=95 t = o
(19) 60 +u =12 u = -
(20) v x 50 = 400 v = -

A
AWS])
Read each word problem, write an equation,
then work out the answer. There may be
more than one way to write the equation.

Name:

1) If Jack has $80.00 and/spends
$42.00, how much does hethave
left?

(22) Emma spends $15.00 and has
$37.00.left. How much money did
Emma start with?

(23) Kate buys:10 books for $145.00.
How much did each book cost?

(24) Sam spends $72.00 buying 6 C.D's.
- How much dideach C.D. cost?

(25) Bill buys 8 movie tickets for
$72.00. How much does each
movie ticket cost?

26)» In a new classroom there are only
19 chairs. If aclass of 33 pupils
are to use this room, how many
more chairs will they need?

(27 Mark is reading a book that has
120 pages. If he has 53 pages to ==
=
go, how many has he read? I =

5

5 — - _
W‘\ The aim of this activity sheet is to introduce the algebra
% & skill of solving equations using any strategy stages

._&-r‘;, involving + / - and x / + numeracy facts.

Suggested HOME activity:

Make up word problems involving everyday events that can be written
as equations. Have your child write an equation for each problem.
Example: If | buy 3 C.D.'s for $36.00, how much does each C.D. cost?
If I have $30.00 and spend $21.00 on food, how much money do | have
left? (Equations would be 3x?=360r36 +3=?&30-?=21or21+?=30)

Sign when
completed:
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Number patterns or sequences

Name:

AWS

Some number patterns or sequences are created
by adding or subtracting a given number.

3,8,13,18, 23, 28, 33, etc.
How was this number sequence created? \\\

Answer: Starting with 3, add 5 .z;
to each new number-. N4

Example:

Other number patterns or sequences are created
by multiplying or dividing a given number.

2,4,8,16, 32, 64,128, etc.

How was this number sequence created?

Example:

Answer: Starting with 2, multiplyeach
new number by 2.

Look at each number sequence to work out how it
was created, then write the next three numbers
in each sequence. Describe how each number
sequence has been created.

@ 3,9,15,21,

@ 2,9,16,23, ,

(3 78,74,70, 66,

“ 81,72,63, 54, ‘

As people enter a party, they are given a 5\
spot prize ticket numbered from 1'to 50. © &

1 2//3 [ 44565 |6 |7 |89 10
11112 43 | 14 | 15 | 16417 | 18 | 19 | 20
21122 |23 |24 | 256 | 26 |27 [ 28 | 29 | 30
31132 33|34 |35 |36, | 37 (38 | 39 | 40
41 | 42 | 43 | 44 | 45,/ 46 | 47 | 48 | 49 | 50

Ben's lucky number is.5, so the 5th person gets
the first spot prize. He then selects every 4th
person, who also getsiaspot prize.

On the grid above, circle all ticket numbers
that will receive a prize.

(G

(6) List the number sequence you created.

7y  How many spot prizes were won?
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Look at each numberisequence;to work out how it
was created, then write the next three humbers
in each sequence. Describe how each number
sequence has been created.

® 3,6,12,24, ,
© .319,27,81, ,
(10) 5,10, 20, 40, ;
(A1) 480, 240, 120,

Word problem.

(12) A scoop of chips costs $1.20.
Work out the number sequence
thatshows the cost of buying 1,
2, 3,4 and 5 scoops of chips.

(13) How many scoops of chips can

you buy with $7.20?

&
;x The aim of this activity sheet is to create number patterns /
1% sequences by adding, subtracting, multiplying or dividing
«% #» and work out / describe how they were created.
Suggested HOME activity:
Using everyday examples, create your own number patterns by adding
or subtracting a constant number from a starting number. Ask your
child to work out and describe how the pattern was created.

Example: If a hamburger costs $3.50, work out the cost of buying 1, 2,
3,4,5.... up to 10 hamburgers to create a number sequence.

Sign when
completed:




§ B3 Measuring units - length

Name:

In New Zealand we use the metric system.

In the metric system, the metre
is the basic unit for measuring length.

A metre is about the length of a
long stride or about 3 times the
length of this page (A4 size).

=\

71

(1)  Name 5 objects you could measure using the

metre as the unit of length.

Metric units for measuring length.

kilometre

centimetre

1000 times longer than a metre

standard unit for length

100 times shorter than a metre

millimetre 1000 times shorter than a metre

Name 2 objects or distances you could measure
using the following units for length.

2 kilometres

(3) centimetres

@  millimetres

Converting befween measurement units.

ily

1000 millimetres (mm) = 1 metre (m)

100 centimetres (cm) = 1 metre (m)

10 millimetres (mm) = 1 centimetre (cm)

1000 metres (m) = 1 kilometre (km)

Converting between metres.and millimetres.

5 2m-= mm @)

m = 6000mm

® 7.5m= mm B8 _ m=4200mm

Converting between metres and centimetres.

9 6m= cm (11) m = 900cm

(100 B57m=
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cm 12) m = 840cm

AWS

Converting between millimetres & centimetres.

(13) 10mm = cm (15 _ mm-=b5cm

(14) 45mm = cm (16 amm = 6.9cm

Converting between metres and kilometres.

17y 3000m = kKm »(19) _ m=6km

(18 9100m = km (20) m = 2:7km

When adding and subtracting length
measurements, the 'units' must be the same.

Sam has two pieces,of wood,
one is 70cm long and the other isil.4m long.
Whatis the total length of woed in

metres?  Answer: 0.7m + 1.4m = 2.1m

Add or subtract these length units.

(21) /4000m + 3.5km =2 _(answer in metres)
(22)  2.3m + 2500mm =2/ (answer in metres)
(23) 680mm - 47cm =? (answer in millimetres)
(24) 730cm - 6.2m = ? (answer in centimetres)
(25) “B4km + 8200m = ? (answer in kilometres)
(26)  96cm - 745mm = ? (answer in millimetres)
@7 1.3m + 54cm + 250mm = ? (answer in cm)
3

GY “\\ The aim of this activity sheet is to introduce the 'metre’, the
«1__#® standard unit for measuring length. Units for measuring
«% #» smaller or longer distances are also introduced.

Suggested HOME activity:

Demonstrate how long a metre is and ask your child to name at least 5
objects or distances that can be measured using each length unit (mm,
cm, m & km).

Ask your child to convert between units as above in Q5 to Q20 and
add or subtract lengths presented in different units, such as in Q21 to
Q27.

Sign when
completed:




g L2l Measuring units - weight (mass)

In New Zealand we use the metric system.

In the metric system, the gram
is the basic unit for measuring weight.

A gram is a small weight. A packet of &(§®
rice crackers weighs about 100 grams.

(1) Name 5 objects you could measure using the

gram as the unit of weight.

Name:

AWS

Converting between kilograms and tonnes.

(13)  4000Kg = t  @s) kg = 6t

(14)  7600kg = t (o) kg = 2.1t

When adding and subtracting weight
measurements, the 'units' must be the same.

&

Joe has fwo piles of books, one weighs
8500g and the other weighs 12.4kg.

What is the total weight of books in
kilograms?  Answer: 8.5kg + 12.4kg = 20.9kg

Metric units for measuring weight.

Add or subtract these weight units.

tonne 1000 times heavier than a kilogram (17) 4000mg +4.5g = ? (answer ingrams)
kilogram 1000 times heavier than a gram
standard unit for weight (18) ,2:3g +3100mg = ? (answer in milligrams)
milligram 1000 times lighter than a gram
Name '2 ob chfs you c.ould measure using the (18) 6:8kg - 2400g = 2/ (answer in kilograms)
following units for weight.
(2) tonne
(20)« 9.2t - 7800kg =2 (answer in tonnes)
3  kilogram :
1) 73009 - 4.7kg =? (answer in kilograms)
@  milligram (22) 969 - 7400mg = ? (answer in milligrams)
. : (23) 10.8kg + 68g + 2500mg = ? (answer i
Converting between measurement units. J 9 9 (answer in grams)
1000 milligrams (mg) = 1 gram.(g) ]
// (24)7 830g x 6 = ? (answer in kilograms)
1000 grams (@) = 1 kilogram (kg)
1000 kilograms (kg) = 1 tonne (t) (25) 3.2Kg * 8 = ? (answer in grams)

Converting between grams and milligrams.

5 7g= mg () g = 9000mg

©® b54g-= mg (8) g =4700mg

Converting between grams and kilograms.

(9 8000g = kg @ g = 3kg

(10) 7200g = kg @12
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__ g=6lkg

@ ) ‘\ The aim of this activity sheet is to introduce the ‘gram’, the
p= _0 standard unit for measuring weight. Units for measuring
«% #» lighter or heavier weights are also introduced.

Suggested HOME activity:

Use some kitchen scales, or some other object of known weight, to
demonstrate how light a gram is. Using different sized objects, ask
your child which unit for weight would be the best unit to use.

Ask your child to convert between units as above in Q5 to Q16 and
add or subtract weights presented in different units, such as in Q17 to
Q25.

Sign when
completed:




m Measuring units - volume (capacity)

In New Zealand we use the metric system.

In the metric system, the litre
is the basic unit for measuring
volume.

A litre is about 4 cups of water or
the size of some milk or juice cartons.

(1) Name 5 objects you could measure using the

litre as the unit of volume.

Metric units for measuring volume.

kilolitre 1000 times more volume than a litre

standard unit for volume

1000 times less volume thana litre

millilitre

Name 2 objects you could measure using the
following units for volume.

@ kilolitre

@  millilitre

Converting between measurement unifs.

1000 millilitres (mL) = 4. litre (L) ‘ )

M |

1000 litres (L= 1 kilofitre (kL)

Converting between litres and millilitre.

@ 7L mL (©) L = 9000mL

5 94L-= mL (7 L = 7300mL

Converting between litres and kilolitres.

(8 6000L = kL (10
9 5400L = kL @
(12)  How many litres of juice is

2500mL?
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Name:

AWS

(13)  How many millilitres of medicine in

a 1.2L bottle?

When adding and subtracting volume
measurement, the 'units' must be the same.

Sam has two tins of paint,
one holds 750mL and theiother holds 8L.
What is. the total volume of paint in f
litres?  Answer: O75L + 8L = 8.75L

Add or subtract thesevolume units.

(14) 7000mL +25BL =? (answer inlitres)

(15) 4.3k.+ 2100mL = ? (answer in millilitres)
(16)an9.5kL - 3700L = ? _(answerin kilolitres)

@7y 19.2L - 7800ml = 2 (answer in millilitres)
(18) 8600mL - 5.2L =.? (answer in litres)

(19) 7.6L~5200mL =? (answer in millilitres)
(20) », 1.2KL +400L + 1500mL = ? (answer in litres)
(21) 820L x 6 = ? (answer in kilolitres)

22) 4900mL = 7 = ? (answer in litres)

A _ L The aim of this activity sheet is to introduce the 'litre’, the
«1__® standard unit for measuring volume. Units for measuring
«% #» more or less volume are also introduced.

Suggested HOME activity:

Using some containers or measuring jugs, demonstrate how much
liquid is needed to fill a 1 litre container. Using different sized
containers, ask your child which unit for volume would be the best unit
to use.

Ask your child to convert between units as above in Q4 to Q13 and
add or subtract volumes presented in different units, such as in Q14 to
Q22.

Sign when
completed:




Reading scales / measuring skills

All measurement instruments have
a scale. Being able to read the scale
correctly is an important skill.

What measurement unit is on this ruler?

What measurements are given by the pointers A
to D?

The measuring unit is centimetres (cm).
Answers: A =3.0cm,B=12cm,C=4.4cm, D =5.8cm

Look at this ruler below.
1)  Name the units on the ruler below ...

millimetres or centimetres (circle one)

What are the measurements
given by the pointers G foL?
Example: 2.4cm, 3.9cm efc.

2

6= J=
H= K =
I=_ ( L=
(3 Mark and label the points of/A ly
to F on thisruler. %
omm 10 20 30 40 50 60
A = 35mm/B=13mm, C=48mm
D=07cm, E=24cm, F=59cm
omm 10 20 30 40 50 60
i -

@) How long is this pencil? Answer in mm & cm.

mm is the same as

Copyright © 5057 AWS Publications Ltd

cm

Name:

AWS/

(5) Measure these lines to the nearest millimetre.

¢ F Line AB = mm
A Line D = mm
6 ,
Line EF = mm
E
Line GH = mm
6) . Draw a 67mm line in the space below starting
at point A.
)
A

This diagram of aweighing machine's scale shows
the weight of.aheavy object.

What are the units on
thisscale?

)

@ ‘How heavy is the object?

©)» Draw an arrow on this scale to show 48Kkg.

This diagram’of a water storage
container has'some water in it.

GOL

What arerthe units on the
scale on this container?

(10)

N
o
=

(11) "What is the volume of water

in‘the container?

12) Another 16L of water is

added to the container.

Draw the new water level.

W‘ The aim of this activity sheet is learn to read scales and
2% ' measure the length of small objects. Remember to

% #» Measure from zero on the ruler, not the end.

Suggested HOME activity:

Find a collection of objects from around the house that can be
measured using a ruler or tape measure, kitchen or bathroom scales,
or measuring jugs. Ask your child to measure various objects using the
appropriate instruments.

Example: The width of a door is about 800mm, a cup holds 250mL ...

Sign when
completed:




. A
Perimeter Name: AWS ’
Distance around the outside. (5) All sides of a square are the same length.

Imagine you are at the corner of a soccer field.
If you walk along each side and back to your
starting point, the distance you have walked is
called the perimeter of the field.

Example: X = 100m

Add the length
of ALL sides.

50m 50m

Answer: 100m + 50m + 100m + 50m = 300m

Look at each shape below and work out
the perimeter. Remember to include all
sides.

12cm

@ 8cm
10cm
+ + =
15m
@) 6m 6m
[
15m
+ + + =
9mm
5mm 5mm
3)
5mm 5mm
9mm
11cm
7cm
7cm
4)
7cm
7cm
11cm
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If the perimeter of a square is 36 metres,
how long is each side?

Words problems

(6)/ Awnew fence, the shape of a rectangle, is to
be built around a swimming pool. Y ‘
If the sides are 4 and 10 metres long, j 20
what is the périmeter of the fence? f
S
10m Ve
~M|
4m
() »This diagram shows thefences around a
paddock. Work out the/perimeter of this
paddock.
50m
30m
50m m
30m
50m
(8) A courtyard has been built using 1 metre

concrete squares, as shown in this diagram.
Work out, the perimeter of the courtyard.

E—
A _ K The aim of this activity sheet is to introduce perimeter, 'the
~_# distance around the outside'. All closed 2D shapes, with

.g. r» the starting and finishing point the same, have a perimeter.

Suggested HOME activity:
Find some shapes around your house, for which you can work out the
perimeter.

Example: The edge of a table, the boundaries of your properties, etc.
where the starting and finishing points are in the same place.

Ask your child to measure ALL sides of the shape using a tape
measure, ruler or their own feet. By adding up all measurements, you
are working out the perimeter of each shape.

Sign when
completed:




"If you can paint it, it has AREA," said Robert.

This shape has been divided up into squares.

Count the number of
squares to work out the
area of this shape.

Answer: 20 squares

Work out the area of these shaded shapes by
counting the ‘whole' squares and estimating the
area of the 'partly’ shaded squares.

1)

2

3 Draw two different shapesiin the grid below
that both have an area of 12 squares.

This shape is made up of 1 row of 5 squares:

What is the area?

If the shape'was made up of 4 rows of 5
squares, whatwould the area be?

Answers: 5 square units, 4 x 5 = 20 square units

Work out the area of this
rectangles by first counting the
number of squares in ONE row.

4

1row =

Area = rows of
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squares

= sq units

Name: Aws

The diagrams below are not drawn to scale, but
imagine that each square is 1 square metre.

The units for your answers will be ‘square m'.
(Could be written as 'sq m' or m?)

Work out the area of each rectangle or square.

©)] ()
3m o
6m
3m
() ®
3m 4m
4m
5m
(©) How:can you work out the area _
. . height
of . these shapes without having
to count all squares? base

Work out the aréa of each rectangle (A = bh).

(@0) (12)
5cm

3m
(11) (13)
10m 7cm
i %
A \\ The aim of this activity sheet is to revise the concept of

. area. For squares or rectangles, area is the length of the
% #» base multiplied by the length of the height.

Suggested HOME activity:

Draw shapes on maths paper and ask your child to work out each area
by counting or estimating the number of squares.

Ask your child to work out the area of a shape given how many
squares in ONE row and how many rows. Such a shape is called a
rectangle or square.

Example: If 1 row is 5 squares long, what is the area of a rectangle
made up of 3rows. 5+ 5+ 5 =15 square units.

Sign when
completed:




A
m Volume Name: AWS ’

"If you can fill it, it has VOLUME," said Steve. Using 'lego’, or similar blocks, build some shapes

"How many cubes in this pile?" asked Steve. with the following volumes:
Remember to count the @ @ 8 cubes o o | small blocks have a
ones you cannot see. 0 0| volume of 1 cube.
Answer: 8 cubes (2 you cannot see) (8) 18 cubes
oo
large blocks have a | g o
This shape is said to have a volume of 8 cubes. || (9) 25 cubes volume of 2 cubes. |0 o
oo
Work out the Yolume of each pile of cubes. @o) 34 cubes
Remember to include cubes you cannot see.
B
1) 40 cubes ‘[ﬁ'[ ﬁ -~
For this 3D shape; the
@ cubes
- volume can be worked A
out if we know three heigh|
measurements ... | fal
A4 7 depth
the base, the height and 4-5%;--) .
the depth (V = bhd).

cubes | For the next two questions, have a supply of small
lego blocks to modeleach question, if required.

2

@2y’ Work out the number of blocks needed to
make a shape that has ...

a base of 3 blocks, A
a height of 5 blocks, 5 blocks

N I 5

lﬁ'l gl \' ‘I
This big box is to be
filled with smaller boxes

(cubes).
3 blocks

The bottom layer-has /
already been filled: / 13)» Work out the number of blocks needed to

make a shape that has ...
(3) How many small cubes are

a depth of 4 blocks. v

/ﬂ
L/4 blocks

in the bottom layer? ..« . cubes 4 base of 6 blocks, A
a height of 4 blocks, 4 blocks
) H?w many layers of cubes a depth of 3 blocks. i
will this box hold? . layers %
‘»3 blocks
(5)  Work out how many:small cubes this big box S blocks.
will hold. 3

GLEN

A . The aim of this activity sheet is to revise the concept of
cubes _s% 3 volume. The volume of simple 3D shapes can be worked

«» #» OULITyou know the base, height and depth.

®) Inasecond box,the bottom

Al Suggested HOME activity:
layer' can hold 20 cubes. PA Have a selection of blocks and ask your child to build something with a
If there are b |qye|~5, how ﬂ known volume, as above. Note that different structures can have the

. same volume if they contain the same number of blocks.
many cubes can this box hold?

Sign when
cubes completed:
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E Temperature

"Yesterday was the hottest day this year,” said
Joe. "The temperature was 41°C.”

The special unit for measuring
temperature is called degrees.

Degrees centigrade or degrees
celsius. Example: 10°¢, -3°C

Water freezes at 0°C and boils at 100°C.

What is the name of the instrument
used to measure temperature?

@ ;

)

A"-T\,a.

What is the temperature shown on
each thermometer diagram A to D below?

2

A= °C
B=. °C
C= °C
D= °C

Draw each temperature.on the
thermometers E to.H below.

3

E=15°C 20°C 20°C 20°C 20°C
F=-3°C
10°C 10°C 10°C 10°C
G=0°C
H=750C 0°C 0°C 0°C 0°C

Use one of the tfemperature scales above to help
you answer the questions below.

If the temperature was 15°C then rises 6°C,
what is the new temperature?

(C)

Name:

If the temperature was 13°C then falls 8°C,
what is the new temperature?

(G
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A
AWS]
In Toby's living room the temperature is

17°C. When he turns on the heat pump, the
temperature raises by 6°C.

()

v

\

[l

What is the temperature
in(Toby's living room now?

The temperature.of David's milo drink is
91°C. When the tempefature dropped by
45°C it was cool enough to drink.

(7

What is the temperature
of David's milo drink now?

In the table’below are winter
temperatures recorded at
7:00 a.m{ for one week.

(¢]

(8) “What was the recorded Day ®

- Sunday 3°C
temperature on Friday?
Monday | -2°C
©) What was the coldest Tuesday 1°C
recorded temperature? Wednesday | 7°C
Thursday |-1°C

(10) What was the warmest — °C

recorded tfemperature? raay
Saturday | —5°C

(11)  On Thursday by 10:00 a.m. the
temperature had gone up by 7°C.
What'is the new temperature?

(2) At 2:00 p.m. on Saturday, the temperature
was still only 4°C. Since 7:00 a.m., by how
many degrees had the temperature gone up?

3

G i, The aim of this activity sheet is to revise the units for
. _) measuring temperature and how to read a thermometer
«% #» and work out temperature changes.

Suggested HOME activity:

If you have a weather thermometer at home place it in different
situations and record the change in temperature over time. Watch the
weather report on TV and record the temperatures of the cities
throughout NZ over a 3 to 5 day period. Work out the change in
temperature between days for each city.

Example: Nelson: Monday 24°C, Tuesday 28°C ....rise of 4°C

Sign when
completed:




2 8

Name:

AWS

The time on this analogue clock is
10 past 8.

Not all clocks have hands.

Some clocks use only numbers and
are called digital clocks.

This is 10 past 8 on a digital clock ...

When writing 24hr digital time, 12 is added to
all times in the afternoon.

Example: 2:45 a.m. would be written as 0245,
whereas 2:45 p.m. is written as 1445.

Write in the missing times, a.m.;p:m. or 24hr.

Draw the hands on the analogue clock or
show the time on a digital clock or write
the time in words.

®

twenty past seven

@

3

What is the new time?

A roast chicken takes 33 hours.to cook.
If it went info the oven at 3:50, I}
when will it be ready? (answer in words) @

(C)

) If a50 minute TV programme
finished at 20 past 7, atwhat time did.it

start. (answer ags digital time)

(6)  The school play lasted for
12 hours and finished at
five past eight.

At what time did it start?

(answer on this clock face)
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or p.m. time 24hr time

5:12 a.m. > (@

(8 € 0950
7:46 p.m. =2 (9

(10) € 1527
11:55 pim. =2 |[(11)

12) L 3] 1906
12:25 pim. =2 ((13)

The numbers of this didgram show
the time (minutes) it takes for a
trainto travel betwéen stations.

Central Station Station 2 Station 4

17\ Station 1 /:4 /:3
(14) If the train leaves M

11

Station 3

at 8:45am use Central Station | 8:45 a.m.
this table to work |Station 1
out the time the |Station 2
trainarrives at Station 3
each station. Station 4

15) 'How long is the trip from
Station 1 to Station 4?

A

e \ The aim of this activity sheet is to work with time, convert
. between analogue and digital time, describe time as a.m.
| ‘ﬂ, or p.m., 24hr time and prepare a timetable of events.

Suggested HOME activity:
Use both analogue time and digital time, ask your child to convert
between a.m. / p.m. time and 24hr time.

| Example: 10 past 5 in the morning is the same as 5:10 a.m. or 05:10

| Make up a timetable for a bus or train route. Ask your child to work out
‘ how long it takes to get between stops.

Example: How long is the travel time if | get on the bus at 7:56 a.m.
| and get off at 9:07 a.m.?

| Sign when
| completed:




2-Dimensional shapes

(1)  Name these 2D shapes using the
words on the box below.

Name:

Shape Name of shape

Sy
R

@
-
<
&

il
=

circle, oval, triangle, square, rectangle, diamond
or rhombus, pentagonyhexagon, octagon

Parallel lines are the same
distance apart. /
Example: /
Perpendicular lines cross each

other at right angles, or meet

each other forming a right angle.

Example:

(A right angle is a quarter turn.)

(2 On this diagram below, draw aircle around a

pair of parallel lines andlabel them with an A.

(3)  On the same diagram above, draw a circle
around a pair of perpendicular lines and label
them with a B.
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"What shape has three corners
and three straight sides?"
asked Jasmine. -'-:-:;5;:__

Answer: a triangle -~
9 corners

Imagine you are talking to,.someone on the
telephone.

Write down what you'would say, as you
describe each of these shapés. Use words such as
side, corner, straight and curved.

(4)

(6)

What are some.of the differences
between shapes A & B and what do
they have in_ common?

)

o
@

;7 R\ The aim of this activity sheet is to be able to recognise,
1 name, draw and describe various 2D shapes.

«d T»
Suggested HOME activity:
Select one of the 2D shapes on this activity sheet. Describe the shape
by it's features and ask your child to draw and name the shape.
Example: | have four corners, all my four sides are the same length.
(Answer: It could be a square or a rhombus)

Sign when
completed:




m 3-Dimensional shapes

The many 3D objects are based on a simple 2D
shape.

Example: A cylinder is based

on a circle. If you stacked some g
50c¢ coins on top of each other, %
it would look like a cylinder.

(1) Name these 3D objects (A to E) using the

words in the box below.

Name:

)

(3

Mpg agN®

(6)

"This object has 8 corners, 12 edges and 6 faces.
Opposite faces are shaped like rectangles and
the same size.

delicious

What shape am 12
CEREAL

asked Alister.

3D object names:
cylinder,
cone,
cube,
rectangular box,
sphere (ball)

This block of cheese has been
sliced as shown.

What shape would the sliced
end look like?

sliced here

Answer:“arectangle

If you cut through an object, you see a
cross-section of the object.

Look at these objects and describe what 2D shape
you would see if they were sliced along the dotted
line.

/_
2

3
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Answer: a rectangular prism

Imagine you are talking fo

someone on the telephone.

Werite down what you would say as
you describe each of these objects.
Use words such as top, bottom, end, side,
opposite, corner, edge, face, straight, curved and
2D shape hames:

(7

””mﬂ‘ The aim of this activity sheet is to describe various 3D

‘ 4y & objects by their features and then determine what 2D
«» #» Shape the 3D object was derived from.

Suggested HOME activity:
Play a game of 'l spy' by describing a 3D object using the words on
this worksheet and ask your child to name the object.

Example: "I have a top, a bottom and 4 sides, all of which are the
same size. What 3D object am |?"

Sign when
completed:




m Maps / Compass directions

A
Name: ’

AWS

If you are map reading, knowing the compass
directions will be helpful.

What compass point is
opposite west?

What compass point is
opposite south?

Answers: east and north.

Below is a map of a playground. The path drawn
on the map is that of Tom's dog Bella chasing a
ball. Each square is 1 metre_across.

B o]
k)

A L.

(1)  What do the letters on the compass stand

for?
N = S=
E-= W =
|
N
A
L
B
{
A

Starting at point A, describe how to getto
point B and driaw a line.from A to B.

&)

On the grid above /follow:each instruction below
and draw the position of each dot, B'to F and a
line to join each pair of dots as yeu.go.

Startingat point B, go 3 squares north.
Draw a dot/and mark with a letter C.

(3

Starting at point C, go. 2 squares north,
then 4 squares east. Draw in dot D.

)

Starting at point D, go 2 squares south;
then 4 squares east. Draw in dot E.

(G

Starting at pointE; go 3 squaresssouth and
draw in dot F.

(G))

Join dot F to dot A and describe how you
get from dot F to dot A.

)

2l

_E}\\\\ C \ "
\| LI |
\, N T

Bella ran to the ball. To do this, she ran 2
metres west / 1 metre south.

Describe the distancé in metres and the
direction using the words north, east, south
andwest to describe how Bella chased the
ball around the playground .. A to B

9

..BtoC..

..CtoD..

..DtoE ..

EtoF ..

@o) “If Bella finally chased the ball 4 metres
north / 3 metres east, draw the final resting
place of the ball and mark it with the letter
6. Join point F and G with a line.

3

W‘ The aim of this activity sheet is to follow directional

| - '@ instructions to find or create pathways and understand
‘ «» #» the four points of the compass.

| Suggested HOME activity:
Draw a maze or a map of your home, inside or outside. Create a

| series of instructions that create pathways that can be drawn on your

‘ maze or map or create instructions that your child can physically follow
as they walk around your home. Use compass directions as well.

| Example: Starting at this tree facing north, take 4 steps towards the
| shed, turn anti-clockwise west, then take 6 more steps ... etc.

8  Name the shape you have drawn.

Sign when
| completed:
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m Reading map (grid) references Name: AWS

"Where is Cranmer Square?” asked Joe. Battleships is a game played on a grid, using grid
The map below is divided up info squares. .- references to find where
Along the sides of the map are numbers M nl\ ships have been placed on

the grid.

letters, you can find a place on the map.

Answer: Cranmer Square is in the square 3A. On what gquares s this

3A is called a grid reference. battleship placed?
TIaWs oL o I [ 1 Answer:. 1C, 2C and 3C
St —BEALE Vr@ ——— @) —
E 1\ ?Lyndursr © Bebloyl Intprnationd] ‘_.__] [ pe]
\ \e2 Ie) Hos, Bagk packer., = . . .
‘\ %{ 2| .‘%-’L ? ?',E'?EQ'Q'SK T ——| | | Belowisia battleship grid where ...
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Use the grid references ofi:this map above to find
these streets or places.. Some answers may be
more than one grid‘reference.

(1)  Name the square that Knox Street is'in:
(8) Mark these squares on the grid with an X.
4A,7H, 10E, 3B, 8E, bJ, 91, 1F, 2B, 66, 1B

2 Name the square that the Town Hall is in.
(9)/ Name any ship you have crossed out.

(3) Colombo Street starts inisquare 5E.

Name the other squares that Colombo

(10) »Write the grid reference for where the
Street passes through: J

aircraft carrier and submarines are placed
on the grid.

4  Name the four squares that Salisbury

The aim of this activity sheet is to learn how to locate
places on a map that has been divided up into squares or
; grids. The numbers / letters along the side are called grid
._‘s p, references.

‘ Suggested HOME activity:
. Using a city street map or country map, ask your child to locate various
(6) Name fhe SChOOI In Square 2A. ‘ p|aces us|ng a gr|d reference.
Create your own maps divided into squares or girds on which points
‘ can be located or play a game of battleships as above.

Street passes through. s
|
\

(g

(5) Name the hotel.in square 2B.

(7> Name the sport that can be played in 4D. |
| Sign when
completed:
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. o A
£ % Bl Rotation & reflection Name: AWS
When talking about rotation, we use words When you look in a mirror, you -
such as clockwise, anti-clockwise ... see your reflection. <-->

... quarter turn and half turn
to describe how an object has
been moved.

O

Everything looks the same,
except it is back to front.

<

=

To reflect this picture, the mirror line

Use the rotation words above to describe how
each arrow has been moved.

The shaded arrow is the new position.

@) )

would be placed on the arrowed line.

Draw a line(s) to showwhere the mirror line(s)
would go to reflect these pictures or shapes.

(9)

(10)

Draw which way the arrow will be poinfing.after it
has been turned or rotated about point x.

3) 4

—

quarter turn

. . half turn clockwise
anti-clockwise

Some alphabet cards have béen used to create
these patterns using rotation.

Draw the next 2 letters for each pattern and
describe how each pattern was created.

TG )

(G))

)

®

A Y

Half of each shape is missing. The arrow
is*the mirror line. Draw the'complete
shape, after it has been reflected.

A
(13) ' (15) . l__—__p_\
: < >
|
|
\ N
(14) (16)
(_ D __ _ _ b
—\v/_ > |
Y
A
@@7) “Draw a design that |
shows you understand :
reflection. The arrow |
is the mirror line. |
|
\ 4
8

A

A | The aim of this activity sheet is to revise rotation and
p . reflection. Rotations can be described using various
o« £» Words and reflections require a mirror line.

Suggested HOME activity:
Looking around your home, ask your child to point out designs that
have been created by either rotating a pattern or reflecting a pattern.

Example: Wallpaper or floor tile patterns.

Ask your child to create their own designs using rotation or reflection
and have them describe how they created their design.

Sign when
completed:
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E Translation & enlargements

Name:

delicious

This cereal box has been moved by
sliding it along a table top.

TS U

The cereal box has not been
turned around or flipped over.

Such a movement is called a translation.

Each group of pictures below have been lined up
to make a pattern.

Write under each group of pictures, how the
patterns were created .... by translation,
reflection or rotation.

/4 /4

4"4 (Y dzu
% RS 3 3 s ' e
A I
= g : o
2
Y B £S e 98
@ @ B g O B
(5) Translate this
pattern to the
opposite side of the
arrow, without < >
turning the pattern
around or over. A
, W
(6) Draw two designs to show you <”v“ o)
understand translation. 377 ﬂvﬁ)
The same patternishould be on z:: N2}
each side of the arrow. N gy
gy, N
ey
A
|
|
I
i GC—+——FH—\———+—D>
I
I
|

\4

Copyright © 5057 AWS Publications Ltd

Sam used maths

paper to draw this

P

small black
triangle twice as
big (grey colour).

Each side of the triangle is twice as long.

Rédraw each shape so thatall
sides are twice as long.

0

®

Draw a small'shape that you can redraw twice as
large, to show you understand enlargement.

9

&
=  The aim of this activity sheet is to revise translation and
%7 ‘u}\ enlargement. Translation involves sliding the same object
“li— to anew position. For enlargement, the shape changes
- E» size but does not slide, flip or rotate.

Suggested HOME activity:
Looking around your home, ask your child to point out groups of
objects that demonstrate translation or enlargement.

Example: A picket fence, strips of wallpaper, a line of bottles in a row.

Draw various patterns that involve sliding or translation and using
maths paper, draw designs involving enlargement.

Sign when
completed:




l 0/
E Sorting data using tally charts Name: AWS ’

Mr McGregor has a problem with caterpillars on
his cabbages.

This tally chart shows the
number of cats and dogs

Room 5 pupils have as pets. Petllally Total One day he counted the number of
How many pet cats and cat | N 2 caterpillars on each cabbage plant.
5 :
dogs do they have: dog |1 11 > These were his results.
Answers: 12 cats & 8 dogs
(Remember M = 5) ? Number of caterpillars
5,6,9,5,7,86,7,10,7,5,6, 8,9,
Sam conducted a survey. 6,7,8,7,9,6,7,7:6,8,9,10, 9, 7,
He asked pupils in Rooms 4 and 5 ... 8,7,8,9, 10,5,6, 5,8, 6,4, 6, 8,7
"How many pets do you have at home?" 9,4,5,6,9,5,7,4,10,9,5, 8,9, 1
@ Us}le Thhe Number of pets (8) Complete the tally chart below foorganise
ta Y C art this data. o ’ - ‘
below to 2,3,1,4,6,2,3,5,1,4,2, o g A G e )
organise 3,2,1,3,3,0,3,4,1,2,3, Number of
the datahe | 2.3 1.4.1.5 4,0,2 3n. caterpillars per Tally, Total
plant
collected. | 3 5 50,2, 35,2800 .
Make a mark in the tally column next to each 5
number as you go through the listiabove.
Number of
pets Tally Total
0
1
2
3 J’”:PWP?VVV“
4
5 (9 »What was the most common number
of caterpillars on a cabbage?
6 (10) . What was the least common number
of caterpillars on a cabbage?

(11) ~ How many cabbages did Mr

(2 How many pupils had 2 pets?
McGregor have altogether?

(3 How many pupils had b pets? i -

W‘ The aim of this activity sheet is to organise and sort data

(4) What was the most common number ‘(‘ | using tally charts, then answer questions appropriate to

| & e thedata.
of pets pupils had? -
Suggested HOME activity:

(5) What was the least common number Collect information that can be presented in a table. This may require
. you to ask extended family or friends to answer some questions to
of pets pUpIIS had? collect the data. Then ask your child questions that relate to the data.

Example: A table showing favourite foods your family / friends eat.

(6) How many pupils had 7 pets?

Create your own tables, with made up data and then ask your child to
talk about the data in the table.

(m  How many pupils did Sam survey? Sign when

completed:
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m Understanding / creating graphs

Data can be displayed in many ways.
This column graph shows the

number of pupils in Room 3 fg
who play soccer (S) and 16
rugby (R) on Saturdays. 14
Number 12
(1)  How many play plac;/fers 10
soccer and how 8
many play rugby? 2
2
soccer (S) = 0
S R
r‘ugby (R) T — Sport played
This table shows the number Total
of days it rained during the January(| 5
first six months of a year. February| n.4
(20  Complete this column Magh U
graph using the data in April 6
the table. May 8
June 10
10
9
8
Number /
of 6
days it 5
rained 4
3
2
1
0 >

Name:

F M A M J
Months<of the Year

N

3  On how many days in May was it
raining?
In which month did ifrain 4 times?

On how many days.altogether did it
rain during these months?

)
(G

This pictogram shows /
the number of pet
cats and dogs Room 5

pupils have. Key: 1 picture = 2 pets
(6) How many pet cats and cats =
et dogs do they have?
P 9 4 dogs =

Copyright © 5057 AWS Publications Ltd

>
s

This table shows the number of vowels
used in the first 50 words of a novel.

a | e i o | u
Total | 48 | 44 | 3471 24 | 18
(7) Complete a AAAAAAAAAAAA
this
pictogram
using the it
dataiinthe o .
table.
u-

Key: 1 picture'= 4 vowels

This dot plot graph Rooms 2 & 3 boys and
shows the number of o9 A gir/s who skateboard
boys and girls in .
Rooms 2.& 3 who like °
skate boarding. 10 o .
° °
° °
° °
° °
0 >
boys girls
(8) How many boysand how boys =
many girls skateboard?
girls =
(9) Draw.a dot plot graph for the data in the
table below.
Fruit | Total 10
- 5 Total
%10 .
< | 3
é . -
© | 9 i< e
¢ N

A . &, The aim of this activity sheet is to create three different
¢ __ & data displays - a column graph, a pictogram and a dot plot
« #» graph, and answer questions appropriate to the data.

Suggested HOME activity:

Using data collected from around your home or the data in the tally
charts in Worksheet 34, have your child create some column graphs or
pictograms. For pictograms involving large groups of data, each
picture can be worth more than one.

Example: If there were 30 items, by making each picture worth 5, only
6 pictures would be drawn.

Sign when
completed:




E Stem and leaf & time series graphs

Name:

AWS

A stem and leaf graph looks a bit like a leaf.
Example: Jacqui counted the number of red
jelly beans in 12 large packets.

29, 31,28, 42, 38, 27, 35, 33,41, 34, 36, 26

As these numbers are in the 20's, 30's

and 40's, the numbers 2, 3 and 4 go in
the ‘stem’ part of the graph.

i

The second numbers form

219 8 7 6 «— the’leaf part of the

30185346 graph and are added fo

4 2' 1 ‘ the graph in the order
‘ listed.

Data that changes with time can be graphed on a
time-series graph.

Example: Jack has been unwell. He recorded his
temperature every hour for 4 hours. These
resultsare shown on the graph.

Jack’s Temperature
Temperature 44

in What was
degrees, 39 ]
© /\- Jacks
.. 37 highest
QA') A temperature?
s 35
a V?
éﬁ\&» B )
NP ; E : i Answer:
40°C

Time (hours)

Matthew recorded the number of runs each
batsman scored in a cricket match, in a stem and
leaf graph.

17,9
2 (3,9,4
36,8
412,0,5
5|9

@)  If the first 2 scorées are 17 and 19, what
are the other scores shown in thissstem and
leaf graph?

’

(2 What was the highest score?

©)) What was'the lowest score?

(@) How many runs did the team score
altogether ?

()  Draw a stem and leaf.graph for
the numbers;in this box.

Copyright © 5057 AWS Publications Ltd

Each day foraweek, starting on Sunday, the
air femperature ( °C) at the airportat 3:00 p.m.
was récorded. These were the results.

24°C |,25°C | 18°C | 15°C [ 26°C [,22°C | 17°C

(6)/ Complete the time series graph by plotting
the data in the table, joining each point with
a straight line

A 'Daily Teémperature at 3:00 p.m.

25

Temperature
(C)

20

L
S M T W T F S
Days of the week

(7). What was the temperature
oft Tuesday?

(8 »What was the difference in temperature
between the hottest and coldest days?

i 9
g\ The aim of this activity sheet is to understand and draw
P _. stem & leaf graphs and time series graphs.
Suggested HOME activity: ‘
Collect or make up data that can be presented as a stem & leaf graph.
This is normally a list of data numbers that have been collected by \
counting or measuring something. Create some stem & leaf graphs. \
\

Collect or make up data that can be presented as a time series data.
Time series data change over time, such a temperature, heights of
plants or the weight of a pet etc. Create some time series graphs.

Sign when ‘
completed: ‘




m Conducting an investigation

"Which sport do pupils in Room 5 like to play

more, soccer or rugby?" asked Sam.

To answer this question, Sam conducted an
investigation by asking a simple question ...

"Do you prefer to play soccer or rugby?”

Consider this question ... ‘

i
T
LS

s
i

"Which is the most popular singing group
that pupils in your class listen to?"

i

(1) As you investigate this question, how
would you collect, record and organise

your data?

2  What data displays or graphs could you

use to display your results?

3 Draw the table that you would use to
collect the data and either collect some

data or make up some data.

Copyright © 5057 AWS Publications Ltd

Name:

AWS/|

Draw a column graph, pictogram or dot plot
to the display your results in Q3.

)

(5)  Write one statement about your results.

Westmorland Primary Schoal investigated ...
“Where will we go on ascheel outing?”

A'=go to a movie

B = go to the zoo 7
C = go to the park ;
D = go to the beach

c ¢ A bD C B B €C D C A D C
B ¢ b€ C A A D B C A D C
B ¢C bi¢c«c D B C D A C D B C
A CcC_D,B D B A C B B B D C

(5) Lookatthe results of their investigation.

Write 4 points based on these results.

2
(]

A _ K The aim of this activity sheet is to look at ways a simple
«1___® investigation can be conducted and at the ways data can
«% #» be collected and displayed.

Suggested HOME activity:

Make up an investigation. Ask your child to come up with questions

that could be asked, who is going to be asked and how the data is to
| be collected and displayed.

Example: What is the most popular holiday place in New Zealand?

Sign when
completed:




¥ M Mean (average) and range

Name:

Here are three piles of blocks.

If all piles had the same number
of blocks, how many blocks would

e
there be in each pile? [ V]

Add the number of blocks in all piles (3 +2 +4 = 9),
then divide your answer by the number of piles (9 + 3 = 3).
Answer: 3 blocks in each pile.
By doing this, you are finding out the ‘mean’ or
average number of blocks in each pile.

In a running race, the fastest time was 29
minutes and the slowest time was 42
minutes.

The difference between the fastest
and slowest time is called the range.
Example: 42 - 29 = 13 minites.

In this running race, the range of the times was
13 minutes. (Range = largest number - smallest number)

Work out the mean or average of each
group of numbers.

Question 1 has been done for you.
Add up all 4 numbers, then divide your answer by 4.

1 8,4,5,7 8+4+5+7=24 24+-4:=6

@ 7,95

3 4,8,9,7

@ 2,9,5,6,8

e 11,3,8,10,3

® 13,9,11,7

(m 23,19,21

® 103,97

o 11,13,8,2, 1

(10) 43,61,16

Joe likes to play soccer after school
everyday. Last week he played-for 2,
3,1, 2 and 2 hours.

(11) How many days in a row.did Joe
play soccer?

(12) How many hours in total did Joe
play soccer last week?

(13) What is the mean humber of

hours per day Joe played
soccer?

In one week the pupils in Room 3 each
read some books, as shown below.

3,12 4.1 .3 2.1 2.1 3 1

Work out the mean number of
books read by these pupils.

(14)

Work out the range of each group of numbers.
Question 1 has been done foryou. 9-1=8

@s) 8,4,5,7,9,5,6,3,1 9-1=-8
(16) 9,14,18,3,7,9,5,6,9

a7n 23,65,82,14, 67,10, 54

(18) 1,96, 14,53, 12, 84, 63,76

(190164, 18, 120, 53, 42, 37

(20) ( 84,27,19, 34, 61,85,29

Some of the pupils in Reom 8 have
had their heights measured in
centimetres, as shown below.

152I 148, 160, 138, 143, 135, 139, 132, 145

Work out.the range of
height for these pupils.

(21)

The highest daily temperature for
a weekis shown in the table below.

25°C, 23°C, 19°C, 27°C, 34°C, 26°C, 31°C

Work out the range of
these temperatures.

(22)

%
The aim of this activity sheet is to work out the mean or

8
yﬁ:‘i. average for a list of numbers or scores and work out how
«% #» sSpread out the scores are, called the range.

Suggested HOME activity:

Collect or create a list of scores (numbers) and using these scores,
work out the mean (average) and range of the scores.

Example: The hours spent playing computer games etc.

We sometimes call the mean the ‘average’, but there are two more
types of ‘averages’ called the medium and the mode, that you will
learn about on the next worksheet.

Sign when
completed:
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m Median and mode

Name:

AWS

Another type of ‘average’ is called the median.

The median is the middle score, once the scores
have been placed in order from smallest to

largest.

Example: 2, 3,5,6,7,8,12, 20, 30 @
As these scores are in order, start counting one
score of f each end until you reach the middle.
The median (middle) score for this list is 7.

Work out the median for each list of scores.
Remember the score MUST be in order from smallest to
largest.

@ 1,3,6,91

@ 6,8,9,15,19,21,23
® 21,29, 35,37,48, 53,67
@ 1,4,6,9,10,11,16, 18, 20

® 3,3,3,4,4,4,5,55,6,8

Another type of ‘average’ is called the mode.
The mode is the most common score.

Example: This list shows theshoe size of shoes
sold this week.

7,9/8,9,66,10,9,8,9,10,9,7,9
What'issthe most common size sold?

The most common size was 9, therefore the
mode for these scores is 9.

There can be more than one mode for a list.

If there is an even humber of scores, there will
be two scores left in the middle.” The median is
half way between these scores.

Example: 3, 6,8, 12 _median =7

(6 & 8 are in the middle, halfway is 7 )

Work out the median.for edach list of scores

® 9,10,14, 21

™ 6,945,17,21,27
® 21,24,626,30, 38,45,53, 65
9 8,15,42,68,72,91

(10) 8,9,14,15, 16, 18, 21,28

In one week the pupils in Room 7 each
read some books,@as shown.below.

3,1, 2 41, 3,21 21, 3,13

(11) Work out the median number of books read?

Copyright © 5057 AWS Publications Ltd

Work out the mode for each list of scores:
There may be more.than one answer,

12 2,2,3,3,3,4,4,6,7,7,8

(13 9,9,8,7,3,8,9,6,8

(14) »12,6,8,9,6,7,6,9,12,9,6
(15)»3,4,6,8,3,5,3,7,5,3;5,3
(16) 110,7,9,8,7,6,7,5,7,2,10,5

Every time a T-shirt is sold, its size is
noted. Below is a list of the sizes sold.

—
8, 10, 10, 8, 12, 8,12, 10, 8§, 8, 12, 8

(17) Work ‘out the mode
size'for the T-shirt sales.

(18) Why would it be helpful for a shop keeper to
collect this data?

(19) Work out the median T-shirt size?

@
The aim of this activity sheet is to work out two different
types of ‘averages’ - median and the mode. The median is
the middle score, given the scores are in order. The mode
is the most common score (there may be more than one).

R,
A N
‘ L J

-

Suggested HOME activity:
Collect or create a list of scores (numbers) and using these scores,
work out the median and mode of the scores.

Example: The height of people in your family or their shoe sizes.

Depending on what you are dealing with, one type of ‘average’ will be
more suitable than another.

Sign when
completed:




If Peter's choice was C / Su, what does it
mean?

1)

(20 How many choices (outcomes)

does Peter have?

For lunch, Ryan has a choice of either a ham roll
(HR), a salad roll (SR) and:a choice of either an
apple (A), an orange (0);.a pear (P) or a banana(B).

(3)  Guess how mdny possible food

choices or outcomes you think

Ryan has for lunch?

Use this‘table to work out what Ryan can eat

at lunchtime. (Write letters only)

4

SR

D
[

What does SR/O mean?

(3

(6) List all possible choices.

(7 How many choices (outcomes)
does Ryan have?

Copyright © 5057 AWS Publications Ltd

. . A
Finding outcomes Name: AWS ’
An outcome is what happens 5 Tree diagrams are another H
when you have a choice. b way of working out all possible H <
Sometimes finding all possible outcomes can be outcomes. < T
difficult. Using a box or grid can help. Example: Two coins are T < H
Example: Two coins are tossed in the air. tossed'in the air, list all T
Head (H) | Tail (T How many p055/b/e oufcomes. istcoin  2nd coin
Head (H)| HH HT outcomes By following each branch of the tree,
Taill () | TH Tr | arethere? Q you.can work out all outcomes.
Answer: four ... HH = head/head, HT = head/tail, etc. "o HT. TH, TT (4 Sltcomes)
This grid shows the choices Peter had Carol has a choice of teq < milk
as to when he would go to the movies tea or coffee, withor no, milk
and what type of movie he would see. without milk. milk
% coffee < ,
Sunday (Su) no milk
Horror (H) H/ Sa H / su (8  Use the tree diagram to list all'‘possible
Comedy (C) c/ Sa Py, choices or outcomes
Action (A) A/ Sa A/ Su

Andrew has to make a dentist's appointment
for either Monday, Tuesday or Friday,
either in the morning or.the afternoon.

9

Write in the missing words to complete this
tree diagram to show all possible outcomes.

morning

afternoon

(10)

How many possible
outcomes are there?

q

[

The aim of this activity sheet is to work out all possible
outcomes given an event using grids or tree diagrams.
The event can be as simple as tossing a coin, where
there are two possible outcomes, heads or tails.

Suggested HOME activity:

Create events that involve choices which your child can use grids or
tree diagrams to name all possible outcomes.

Example: You are allowed two jelly beans from this packet. List all
the possible colours the jelly beans could be, i.e. red/black, red/white.

-ﬁ\ e

Sign when
completed:




A
m Simple probability experiments Name: AWS ’

In Adam's club there are 30 members. These number cards are to be used for m
What chance or probability does he a game of memory.
have of being club captain? 21311131 5 51| 2
As there are 30 members in his club and only ~
one of him, he has 1 chance in 30 of being 1 2 2 4 1 é 1 3
ClUb capTain. 4 1 5 3 1 2 5 2
Written as 1 out of 30 or /3. -
(1) If acoinis tossed in the air, what is the 2 4 1 3 S gl 4 2
i 2
chance that it lands on heads: 1 > 5 4 1 4 5 1
out .Of _ or (@  How many number 4 cards
(2 Fred has been selling raffle tickets. are there?

If there are 200 tickets, what is the chance

£ winning first prize? (8) How many number 2 cards
of winning fi ize:

are there?
outof o (9 How many number 5 cards
(3)  Miri has bought 10 tickets in a raffle. are there?
If there are 500 tickets, what/is the chance | (10) ‘How.many number 1 cards
of her winning a prize? are there?
outof _. & —ep —— @1 [How many cards are
@  If you bought 2 tickets inaraffle and have there altogether? —_—
a 1 out of 200 chance of winning a raffle; (22)s" What is the charnce of turning over a number
how many tickets are in the raffle? 2 card?
out of or
. ) Vil 13) What issthe chance of turning over a number
5) If you roll asixsided die (dice), = Y 9
. s - 5 card?
what is the chance that ... mﬁ
out of or

.. the number 6 cofmies up? 4) The card you have just turned over had a

out of or —— ¢hanceof °/40 or '/ of being selected.

a numBeRIE2or 3 comes up? What number was on the card?

(15) Why.do you have a greater chance of turning

outof _«»  or ——
over a humber 1 card than a number 4 card?

... the number 7 comes up?

out of or

A

6) Inabag there are 60 marbles.
If the chance ¢f takinga red f‘ _ o -
. The aim of this activity sheet is to investigate simple
marble out of the bOg is 1/3 | % » probability, working out the chance of something
‘ﬂ, happening. Probability can be expressed as a fraction,
how many red mar'bles are in the bag? | such as %, which means one out of four.

| Suggested HOME activity:
Create similar questions as on this activity sheet to reinforce simple

. | ili
If the chance of taking a blue probability.
Example: Place 5 red, 3 green and 2 white blocks in a bag.
1 \
marble out of the bC(g 1S /6 Ask your child to select a particular coloured block and describe the

h bl bl in the baa? ‘ chance of selecting that block ... 2 out of 10 chances (a white block).

ow many blue marbles are in The bag:

| Sign when
completed:

Copyright © 5057 AWS Publications Ltd




1) Tz (1) 10000's = 1, 1000's = 3, (1) l3T1Tslelals (1) 10s=1,1s=3, Tig,=4,
100's =6, 10's = 2, 1's = 4 . "o0s =8, 10005 = 4
: Number = 13624 o Number = 13.484
11417 5|6/02 (2) 10000's = 8, 1000's = 3, (2) 10s=2,1s=5"9s=2,
6 9[04 100s =4, 10’5 = 3, 's = 6 7 il ! "100s = 3, 10005 = 8
9 2|5]70 Number = 83436 1 1/0[8|% 4|8 Number = 25.238
8 6103 (3) 10000's = 4, 1000's = 0, 8 e ® . @105 =3,1's=0, V105 =0,
7]3/5/2]0 100's =4, 105 =9, 1's =4 61°(3]2]4 |l 7 Yios = 2, "1000s = 4
5 Number = 40494 7L ]1]5|°|6]|9 Number= 30.024
g mmEILE @ 11l - | 111 ]
912 1 9 1 3(4|9|*|3|7]|2 | -
0ld6(5(903 6 !Eli'!' 1 0l 7 | 'i!'!'
6/9]2]1]4]0 8| | (5 10’s 30 3 ° 3 B 'hoo's 0.03
@ sixty-five © 1000's 7000 tLLtr At ®  10's 70
(4) three hundred and ® 100’S 500 @ five point zero two ® / 10,5 -5
sixteen (9 1000’s 1000 ahtvni R 9 1's 2
© onethousandand | |0 10000s 60000 | | (¥ CONYTINEPOMESK | |10 105 40
ninety-seven an 10's 60 (5) forty-three point eight a1 he's 0.08
_ 12y 1000’ seven 12) Mo _
(®) eight thousand, three (13) (1)883 9600000 (6) three hundred and fifty ¢ 1 3) 41/000,3 0000069
hundred and two 13) ,S oofGmaalifires (13) 1100,5 .
(7) fifteen thousand, three| |(14) 1000’ 8000 (7) eightéen point zero one| | 14 : ho's 0.8
hundred and sixty (15)  100’s 300 nine @8), 000’ 0.003
(8) seventy-six thousand| | (16) 29504 (8) fifty-eight point five one| | (16) 10).752
and two @7 13@®)7 6 three a7 24.1(3x
(18) 300 480 (@s) 987 (68
(19) Ap317 19) 0.82@
(20) 98135 (20) 123.85%
5 | 6 | 8 |
Q) 100 + 11 = 111 (1) 60-5=55 @) 0.95, 1.56, 3.45, 1)y $60 | (6) $640
(2 100 +40 = 140 @ 190-1=189 804,126,183y | | @ S0 D o
(3 1000+49=1049 | i@  470-6=464 @ 28:71m @ $70 | o $570
(4) 2000+500+26 = 2526 4) 260 - 2 = 258 3 23.37m (5) $150 |(0) $920
(5) 60+60+5=2125 (5) 26 + 56 =82 4) 23.65m
© 70+70+5=145 || ) 49 +44=93 © 2377 S 23.52, (i;) 288 (if) ;gg
@ 100 +100 +&=200"| | 7y /68456 =114 8,48, 23.37 EB; 500 518; <00
(8) 200 +200+43 =243 (8) 67 +178 = 245 (6) 6
9 80 + 23 =103 9) 118 + 223 = 341 ) 3 (4 400 (9 300
9 (15) 200 |(20) 800
(10) 30 +.155 =185 10) 65-30=35 (8) 30.1, 31.9, 32.9
(11) 240 +33 273 1) <187 -70 = 117 (9) 80.1431.9,32.9,33.4,| | o1) 35 |[(26) 17.3
_ _ 344, 35.8, 36.3, 37.7
a2) 50 + 526 = 576 @z) 279 - 40 =239 22) 76 |7 2838
(13) 300+100+60+30+2+7 =499| | (13)». 358 - 100 = 258 (10) 0.987kg (23) 19 |(28) 124.8
(14) 100+500+40+20+5+4 = 669| | (14) 422 -90 7332 (11) 1.036kg (24) 3.8 |(29) 133.7
(15) 200-100+60-20+7-4 =143 | [ (a5) 79 (12) 1.012kg (25 1.6 |(30) 8132
. - 6 = 13 1k
(16) 500-200+30-10+9-6 = 323 | | (16) 34 (13) g 31)  $80 + $80 = $160
7) 170 - 6 + 5 =169 17) 61 (14) 0.987, 0.996, 1.012, + _
1023 1.036 (32) $160 + $50 = $210
@s) 320-9+6=317 18) 50 ’ C (33) $100 - $60 = $40
(19) 430-8+2=424 | | Qo) 33 1s) 14.9572,14.9725 | | $230-$70=5160
20) 530-7+1=524 | |20) 46 |(25) 128 14.9752 (35) $300+ $700 = $1000
(20) 15 000, (36) $600 + $400 = $1000
21) 1+30+4=35 21) 191 |(26) 52 oY 37) $1100 - $500 = $600
15.2479, 15.2497,
(22) 2+20+5=27 (22) 15 27 212 15.4279 (38) $2400 - $1000 = $1400
_ (40) $9.50 + $3.90 = $13.40
24 1+10+7=18 @4 174 (41) $16.80 - $9.50 = $7.30
(25) 3+60+8=71 (42) $20.00 - $8.40 = $11.60




(€D} 7, H, A, 28, 3_5, (D) 8, 1_6, 2_4, 32, @, (€D} 28 shapes + 7 = 4 groups @) (70 X 5) + (5 X 5)
42, 49, 56, 63, 70 48, 56,64 72.80 | | 2) 49 swapes+ 7 = 7 gous = 350 + 25 = 375
e 2723 @ (60x6)+(7x6)
2) 28 isthesameas 7 X 4 = 28 2 32isthesameas 8 X 4 = 32 3) shapes = — ) groups =360 +42 =402
(3) 49 isthesameas7 X 7 = 49 (3) 56isthe same as8 X 7 = 56 (4) 35 shapes - 7 = 5 groups (3) (50 X 7) + (4 X 7)
4) 35isthesameas 7 X 5 = 35 “4) 40isthesameas 8 X 5 = 40 5) 7 shapes + 7=1 group =350 + 28 = 378
(5) 14 isthesameas 7 X 2 = 14 (5) 16 isthesameas 8 X 2 = 16 (6) 63 shapes = 7=9 groups (4) (100 X 3) = (2 X 3)
(6) 56 isthe sameas 7 X 8 = 56 (6) 64 isthe same 2s 8 X 8 = 64 ) 42 shapes + 7=6 groups 2 =300-6=294
() 21 isthesameas 7 X 3 = 21 (@) 24 isthe same as 8 X 3 = 24 (8) 56 shapes T 7=8 groups (>) iggG)(()‘})1-6(i ):(3444).
(8) 63 isthesameas 7 X 9 = 63 (8) T2 isthesameas8 X 9 = 72 Q) 70 shapes + 7=10 Y - (6) (400 X 4) ) (3 X 4)
9) 42 isthesameas I X 6 = 42 9 48isthesameas8 X 6 = 48 (10) 14 shapes + 7=2 groups =1600 ~.12 = 1588
(10) 70 isthesameas 7 X 10 = 70 (10) 80 isthe sameas 8 X 10 = 80 @w) 24 —— 8=3 groups ) (300 X 6) = (8 X 6)
(11) 7 (21) 2 (11) 8 (21) 2 12) 48 .8=6 = 1800 -/48 = 1752
a2 28 |22 8 12) 32 |22 .8 - - o L ® (600 x 7)-(6%7)
(13) 42 23) 3 (13) 48 23) 3 - squares Y groups =4200-42 =4158
14) 63 |4 7 1) 72 |4 1 (14) 92 squares = 8= Fgaips | | (9) (300 x8) +(9 x 8)
(@) 70 |25 6 (a5) 80 |25 6 (15) 56 squares * 8= T grows = QRUer = 2472
@ae) 35 |6 4 16) 40 | (26)m. 4 (16) 16 squafes + 8.5 2 goups | | 10 (700%6) + (6 x 6)
g =4200 + 36 = 4236
a7 14 27) 1 a7) 16 (27) 1 (17) 80 squares .8 =10 groups 11 8x12=96
18) 49 (28) 5 18) 56 (28) 5 (18) 64 squares ~ 8 = 8 groups (12) 18 x 10 = 180
(19) 21 (29) 10 (19) 24 (29) 10 (19) 8 squares 8=1 group (13) 10 x 27 = 270
(20) 56 (30) 9 (20) 64 (30) 9 (20) 40 squares + 8 = 5 groups (14) 20x 14 =280
(32) $4.00x7 =%$28.00 (32) $5.00 x 8 = $40.00 (22) " $24.00 + 8 = $3.00 Ar 344 |(20) 4168
(33) $56.00+7=$8.00 | |(33) $64100+8=$8.00 |(|(23) 1$72.00-8=3900 | {18y 414 |(21) 1870
@ (4(53 )++6(i41:3 Y (1) “onehalf | (2) 1 outor2f, | (1) 1o, 1o, VI, U (1) a=26 |(11) k=6
2) (100 = 5) + (25 = 5) 3) 1/3 (4) Xouof3 s e Y Yy 2 b=26 |{(12) m=9
=20+5=25 1 Y 3 ¢c=13 |(13) n=4
@) (60 + 6) + (42 + 6) (5) one quarter| (6) N ) .
=10+7=17 @ s @IL out o5 (4) d=29 |14) p=3
4 (70 +7) + (42 =7) L < 1 - (5) e=25 |(@15) q=1100
N ¥ 0 i, ' i || |© f=102/a0 r=8
G)) - 10+ 5 @ (11) onegenth| (12) 1 outor 10 B . ) g=87 |a7n) s=5
(6) (6_Og0_02)4' £82_962) (13) 4/5' 3/6 o~ 1/2, 5/7' 3/8, (3) 1/3’ 2/3’ 3/3’ 4/3’ 5/3’ (8) h =74 (18) T = 475
o (660 A 6') kX ('12 -6) s 1 5 78 9 (9) i=47 |[(19) u=5
=100 - 2 =198 S oz g > e (10) j=102|(20) v=8
1600+ 8)-(16 =+ 8 (14)
(8) ( = 200 -)2 i 108 ) : | | | | | | | || (4) 1/5' 2/5' 3/5, 4/5, 5/5' (21) $3800
800 + 4 2+4
(9) ( 2200 3_-;(3208 ) | | | | | | | 6/5’ 7/5’ 8/5’ 9/5’ 10/5’ (22) $5200
(10) (1400 +7) + (21 +7) bIT T T T T 1] 1, 12/ 13 (23) $14.50
=200 + 3 = 203 1 O B R oo 12.00
(1) 72+6=36+3=12 O Tl oy [ 1,2 5 4 5, (24) $12.
(12)  96+16=48 8 @5 9 (as3x9=27) ST T (25) $9.00
=24+4=6 6, 7, 8, 9, 10 i
(13) 840 +40 = 420 =20 @ae) 9 (as5x9.=45) l2, 12,17, "I, 7 1x, (26) 14 chairs
=210 +10="21 17 8(as7x8 =56 11, 12, 13, 14 27 67 pages
(14) 456 +24=228+12 “n ( v A ) b, ", " @n pag
=114:6=57-3=19] |(1® 9(as5456=3)
(15) 512+32=256+16 (19) 9(as72+8=9) (6) 18 9 25
=128+8=64+4=16| | (20) 16 (as 160 + 10 = 16) ) 18 (a0) 27
(16) 28 (1) 138 1) 8x5=40 (8) 24 (11) 30
@ 24 (22 190 22) 10 x 6 = $60 (12) 3000 + 3 = 1000 x 2 = 2000m
(18) 15 (23) 123 —
23 9 7 = 63 13 +4 = = i
(19) 1314 | (24) 12514 (23) X (13) 40 +4=10x3 =30 minutes
(20) 12r3 |(25) 93r6 (14) 50+5=10x4=40rolls




(10)
(11)
(12)

20 140
2{!«0 160 \»}?

litres

34L
50L

@ ... E, E, @ (D) fji:ﬁ:;:v::;und school (D) POSSib_Ie answers: (1) Possible answers: .
Begin with 3, then add grounds, : : z:::ﬁ SIfaf;ltji::’toy, :;V:iﬁrilnnaat::mhen sk
6 to each new number - height of a lamp post, - a piece of bread, ik in & carton
- length of a running track, _ . '

2 ...30,37,44 - lengths of ol empty coffge cup, - petrol in a cars tank,
2add oy nae | o
(3) ...62. 58 54 distance between two countries (@) acar, a truck (2) water in a lake, water in an

... 78, subtract 4 (8) lengthofa pebn;;’( size of atext (3)  an animal, a bag of potatoes @) . medicine on(;CEZZOn coffee in
(4) ...45, 36, 27 (4) width of a pencil, thickness of a ) acup
.81 , subtract 9 matchstick 4) a feather, a toothpick ) 7000 (6) 9
® [Tl O s @ | ® 2000 | @) 6 (5)==7000 | (1) 9 (5)19400 | (1) 7.3
1112 14(15|16 18(19(20
GD[22[23]24 26|27 |28 69 30 © 7500 [ ® 42 (6) 5400 | (8 4.7
3132|6334 35 36(5)[3839 40 (® 6 (10) 9000
(@7 4243]44 |@5) 46|47 |48 1G9 50 9) 600 | (@1 9 ©) 8 1) 3000 ) 5.4 | (11) 7600
© 591317, 21,25 | |0 570 1B 84 a0y 72 a2 6100y |a2) 25
H ’ b ’ b 13
@ 12 (13) 415 (15) 28 13) 4 | @s) 6000 (13) 1200mL
@) ... 48, 96, 192 (45 1348 1a) 76 |@e) 2100 | [P 7#253595L
... 3, multiply by 2 an 3 |as) 6000 (15) 4300+ 2100 = 6400mL
() ...243,729, 2187 a8 91 |@op2700 | |&7  4*AS5=85Kg (16) £:9.5-8.7 =5.8kL
.. 3, multiply by 3 (18) 2300 + 3100 = 5400mg 788200 - 7800 = 1400mL
(20) ... 80, 160, 320 (21) 4000 + 3500 = 7500m| | (19) 6:8 - 2.4 = 4.4kg
= === 2 18 .52=
-+ 5, multiply by 2 (22) 23+25=48m | |(20), 59278 =14t (18] Q6 - 5-2 = 34L
... 480, divide by 2 (24) £730-620=110cm (22)29600 - 7400 = 2200mg| |(20).« 1200 +400 + 1.5
12) $1.20, $2.40, $3.60, | |(25) 54 #8.2=13.6km | [(23) 800 #68 +2.5=870.59 =1601.5L
$4.80, $6.00 (26). 1960 - 745 = 215mm (24) " +0.83 x 6 = 4.98kg (21)  0.82x6=4.92kL
13) 6 (27) 130+ 54 + 25 = 209cm| | | (25) 3200 + 8 =400g (22) 49+7=0.7L
(1) centimetres (1) 10+12+8 squares.your anowers mayuanbyoneor | | (1) 16
) G =0.6cm =30cm e @ 16
T_:;_g,cm @) 6+15 6415 @ 21 square units
J _: 4'12Tn =42m ) 21 square units @) 9
K =2.2cm ® 5+9 +_53g S+9+35 (3) Own shapes ) 3
L =5.8cm - g (4) 1row =11 squares & 27
G i sl i, T @) 117++77+_758 " Area= 4 rows of 11 () 100
DB E A & F =ouem = 44 sq units .
(4) 44mm isthesameas4.4cm (5) gm (5) 9m2 to No answers Supplled
5) Line AB= 43mm (6) 28m ) 19m?2 (11)
Line CD = 32mm @ 210m 2
Line EF =50mm @) 28m 7) 12m 12) 60 blocks
Line GH = 32mm ) 20m>2 (13) 72 blocks
All the above answers
could be + Tmm (@) base x height = area 2
) Draw a67mm line 2
@) kilograms (10) 15cm
(8) 106kgs (11) 20m?
9 80
© Af\m (12) 12m?
E 3 (13) 42cm?




1) thermometer \ 7:20 1) circle, triangle, (1) A = sphere (ball)
@) A=15°C ) 20 past 7 square, octagon, B = cube
B=8°C / rectangle, oval, C = rectangular box
C=4.5°C @) \ 3:33 Zexagorcwj, pﬁntagon, D = cylinder
D=-1°C \ o710 4 iamond (rhombus) E = cone
3) 20°C 20 20 20 / ) B (2 circle
d A
3) 10:20 j;) 3) rectangle
10°C 10°C 10°C 10°C ¥ 20 paSt 10 (4) triangle
0°c 0°c 0°c 0°c (5) ova I
(4) twenty past seven @ gdcorners, t8 s_idhcisl_, all 6) triangle
_ sides are straight lines .
(4) 21°C ®) 6:30 and same length - this 0 Tg&:cha?:itﬁemsﬁ;:)hés
o 6 i
®) 5°C © shape is an octagon. of a circle; bothithe
(6) 23°C (5), © corners, 5 sides, all same size, a curved
@ 46°C sides are straight Ilngs face betweenihie two
0°C (1) [z and same length - this circles{ Two edges but
®) to 512am. | P |7 0512 shape is a pentagon. no'corners - this
(C)) -5°C (13) @ 9:50 am.| € 0950 (6) 6 corners, 6 sides, all ObjeCt isa Cylinder.
(10) 7°C 7;462;"’“ '(’_ © 11946 sides are'straight lines
o (10) 3: p.m. 527 _ .
(11) 6°C 1155 pm. | ¥ 2355 agﬁasae"?: ;e;g)tg otL"S (8) £-8 corners, 12 edges,
(12) 9°C 12 7:06 p.m.| € | 1906 P g. ' 6 faces, all faces are
1225 pm. | S Jaa) 1225 (7) A and B have 4 sides squares of the same
(14) [Eml . and 4.corners. size - this object is a
Central Station 8:45 a.m. OppOSIte Sldes are Cube
Station 1 9:02 a.m. equal length. All
Statidn2 9:16 a.m. angles in A are equal
ks 9:27a.m. but not in B, although
Station 4 9:40 a.m. - .
opposite angles in-B
15) 38 minutes are equa|_
() N =North, S = South (1) 2E @ 7/, turn clockwise ) rotation
E = East, W = West ; .
(2) 4 squares west then{n| (@) 5B @ Iz turn @) translation
1 square north 3) 5D. 5C. 5B. 5A 3 (4 (©) reflection
@ W 3 B < 4) translation
o M (4)  2C,3C,4G)5C t:> o
=
(6) 5) George Hotel ® ) _
(6) Cathedral Grammar g c fs furn ant
i — ‘ —1|. [F School ®)
(7) 1 sduare south, 4 @ Bowls g oo Iz turn ©
squares west @) B2 @ (@ . tum
(8) hexagon :' = s ol cIocliwise ™
©) 3m west then C | .53 (8) R |
1m north, EI ; V A '/, turn
3m south then gll » ©) 11) ®)
1m east, - > w
3m south then -
3m West, 10213 [4]5/[6 07180910
3m north then ©) destroyer (10) o5 1 12)
1m west, (10) S=9J 2 (®)  Own enlargement
5m east th S =3 o
rg eas then S=7B (13) s 1 4 (15)
(10) T r =20 86, oc m (_EE>-)
] ikﬁ A=T7G, 8G, 9G, 10G T
14 16
SIEREDS a > 00
HE
N % /N $
\ \\ // A (17) .
D 4 T Own design




(@) [fEofpers|_Taly [Tora]| | (1) (S)=14 @ 23,29, 24, 36, 38, e e e e e
0 ““ 4 (R) = 17 42’ 40, 45’ 59 some possibleexam’ples!o use.
1 HH I 7 A Collect data by askin
2) 2) 59 (1) Co y g
2 | Wt W [ 10 ° — each classmate either
3 M Mt 1| 11 ; 3) 17 verbally or written,
; “JT—HI g : @ 372 which singing group
A | : : they listen to. Record
v} ; ® 595 and organise the data
in.a‘tally chart or dot
@ 10 @) 8 67130954 plot.
3) 5 4) F= February 7 11 61 Oa 3 @) column graph
(5) 40 g8\|70 pictogram
4 2&3 (6) cats =12 dot plot
5 6 = Daily Temperature at 3:00 p.m.
EG; 0 - dogs = 10 | () A /‘\ 3) Own answer
o 000000000000 \ [EX (4) Own answer
@ 44 00000000000 » N\
(8) [#e 00000000( B g . (5) -52 péople surveyed,
caterpillars Tall Total . -~
— |||Y . zgggggm Y - most people want to
4 :
5 I 8 Key: 1 picture = 4 vowels ° Da;s of\:\l:e w:ek j ° gO to the park’
6 HH W | 10 =theleast amount of
7 [ B 1] 11 ®) b93|/s - 112 @ 18°C people want to go to
8 [ HH ]9 gIrisgs 8) °0- 15°C = 11° a movie
. 10 © . 26°C-15°C =11°C ,
0 T 5 : o ~ the second most
56 Total M . o important thing
DI . W ° 2 people want to do is
9) 7 e o to go to the beach.
(10) R RN
(11) 56 i< Ee
38| 39 (40|
(1 24+4=6 @) 6 (I)  Peter would see a (€3] 1 out of 2
o comedy movie on or '/,
@) 2l=s=1 7 - Supday. @) 1 out of 200
®3) 28+4=7 ® 37 ) 6 or /a0
“) 30+5=6 ) 10 © 3 10 out of 500
5) 35+5=7 ) 4 @ . b e or 10/500 or 1/50
(6) 40+4=10 © 12 HR | HR/A | HR/O | HR/P | HR/B (4) 400 tickets
€] 63 + 3 =21 ™) 16 SR | SRIA | SRIO | SRP | SRiB ®) 1 out of 6 é)r s .
®) 200 = 2 = 100 @) 34 3 out of 6 or /s or /2
© &5 ol 55 (®) 'saladiroll and orange 0 out of 6 or /s
: (6) "HR/A. HR/O. HR/P (6) 20 red marbles
(10) 120 +3=40 (10) 15.5 HR/B. SR/A. SR/O 10 blue marbles
(11) 5 days @) 2 SR/P, SR/B @ 6
(12) 10 hours (12) 3 @ 8 ®) 10
(13) 2 hours per day (13) 8,9 ® tea/milk, © 8
(14) > 14) 6 tea/no milk, (10) 11
coffee/milk, (1) 40
(15) 9-1=8 (15) 3 coffee/no milk (12) 10 out of 40
_ out o
(16) 18-3=15 (16) 7 ) morning or 10/40 or 1/4
an  82-10=72 7 8 (13 goutof40
(18)  96-12=84 (18 To work out the most Lmorning | or “/ao or s
(19) 120 -18 =102 bop afternoon 14 3
(19) 8,8,8,8,8,8 @
(20) 85-19 = 66 10.10.10. 12 12. 12 (15) Because there are
) _ T dian = O f more number 1 cards
en 160 - 132 =28 median =9 than number 4 cards.
(22) 34-19=15°C (10) 6 outcomes






